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30197622 |pninp, A4 $npdwinh Q< lg 600,0 1 000,0 600,0
30197646  |pning' A3 $npduinh G< Uag 700,0 11,5 8,05
30197650  [pninp' oubpuht < lg 700,0 2,0 1,4
30197647  |pnune’ opubpuyhu, 60q < [ITe] 900,0 43,0 38,7
30197648 |pninp’ o$ubpuihl, 120 ac g 1050,0 100,0 105,0
22991190 Juibwwwin pninp Q< bg 1200,0 150,0 180,0
30197621 [$ihuswpinh pringe 9< g 2 300,0 2,0 4,6
30192740 |pninpe gnitwynp, A4 &luwswithp < g 1400,0 1.5 2,1
30199400  |unubdwwwinygws Yu Lusnit pnune < hwtn 50,0 80,0 4,0
wubtywluwht , dwinwl, 70-200ks,
39263200 ;’;qwb;, u”m;&wt’?;hm " 1 2 < | hun 650,0 70,0 45,5
30192130 [dwunhuntutip 9< huwtn 50,0 300,0 15,0
30192100 nbwnht hwuwpuwy qg hwn 100,0 175,0 175
30192133 |uphsutn 9< huwin 100,0 90,0 9.0
30192121 anhs qunhlywinp < huwn 100,0 570,0 57.0
30192121 [qphs qunhluynp a< huin 100,0 195,0 19,5
30192121 gnhs qunhlwynp Q< hwn 100,0 375,0 37,5
30192128 [gphy glijwyht < hwn 200,0 290,0 58,0
30192128 aphs qbijwyht 9L hun 200.0 70.0 14,0
| 30192138 |aphs qbywht 9c huin 200,0 13,0 2,6

39263410 |wdpwl, thnpp QL wnuh 150,0 100,0 15,0
39263420  |wdpuwy, dbé 9 inuth 250,0 2,0 0,5
30192125  [uwplbputin 9 huwtn 120,0 120,0 14,4
30192125 dwplbptbp q< hwtn 200,0 13,0 2,6
30192160  |puphfutbp 4< huwtn 200,0 120,0 24,0
30199420  |eninp upnuiubiph hwidwp, unutiddwépny Q< hwn 150,0 220,0 33,0
30199430  |pnunpe Upnwiutiph, npguiljutipny q< hwn 700,0 90,0 63,0
30192710 unuuwiwinhwn, gpwubtywlwht Q< hwn 250,0 4,0 1,0
30192710 |unubidwdwinhun, gpuiubtjuluwht < hwtn 300,0 150,0 45,0
24911200 |unuhts, Ednyupw 9c ug 1300,0 57,0 74,1




30197231 |pnewwwlwl, wnihdtpught PN, $uy| 9< hwn 10,0 3800,0 38,0
39241210 |dypwn, gpuiubtywluwht 9L hwn 300,0 30,0 9,0
39241210 dypwin, gpuubtywlwihu < hwin 450,0 2,0 0.9
30197112 Ywphgh dawnwnwiwpt uwbp, dheht a< wnntth 120,0 160,0 19,2
30197100 Ywphsh dbnwnuwnl Yuwbp, d6s QL winuth 350,0 10,0 35
30197321 Yuiphg, dhtsl 20 phipph hwdwp q< hwwn 550,0 10,0 5,5
30197340  |wwwlwphs < hwn 150,0 15,0 2,3
30197233 | pnpwuywtiwly, phjny, pnejw 9< hwtn 100,0 285,0 28,5
30197234 |pnewwwiiwl, Ungwin Yugqung G hwn 700,0 70,0 49,0
22851200  |pnpwwywiwlutnp 9< hwtn 150,0 2,0 0.3
22851200 PnRwwwuwlubp 9¢ hwin 800,0 20,0 16,0
30197232 pRRWWWUWY, wpwqwlwn, pnpjw 9L hwin 80,0 4 410,0 352,8
22851100 wpwqulwpubp q<L hwin 70,0 50,0 3.5
39241141 nuwy’ gpuubtyjwluhu 8< hwn 120,0 30,0 3,6
39241141 nwuwl’ gpuubtjwywht 9L hwn 150,0 15,0 2.3
30192230  |ulyng' bpyYynndwth unutidws Q< hwin 150,0 30,0 4,5
30192230 fulyng' Bplynndwth unutisywd < hwn 300,0 20,0 6,0
30192231 ulyny < hwn 50,0 30,0 1,5
30192231 ulyns q< hwn 150,0 25,0 3.8
30192231 ulyng 9 hwun 450,0 65,0 29,3
30192232 uljns pnEjw Qg hwtn 400,0 16,0 6,4
39263510  Jubndwl, thnpp 9< hwn 15,0 300,0 45
39263530  |ubnuwl, Ukd Q< hwn 20,0 150,0 3,0
30192780  |bowpwdwuhg T4 hwn 200,0 14,0 28
39292510  |pwnt, wjwuwnhy q< hwtn 120,0 10,0 1,2
30141200 hwoywuwpp, gpwubitywlwht q< hwuwn 3 000,0 21,0 63,0
39263100  |gpwublywlwiht (puljwqd q< hwtn 1600,0 12,0 19,2
30192131 UGfuwthwywu Ywd updnn dwwnhunbp 9 hwwn 1500,0 3,0 4,5
30192131 dbfuwthlulwy Yuwd upynn dwinhinttp q< hwtn 200,0 15,0 3,0
30192131 dbfuwthlulwl Ywd upynn dwinhintbp < hwwn 200,0 18,0 3,6
30192135 gpwdhwnt dhontly, dwnpunh hwdwp < winth 70,0 20,0 1,4
22811150 unpwwnbiinpbip q< hwwn 1000,0 9,0 9,0
22811150 unpwunbnpbip QL hwwn 2000,0 5,0 10,0
22811150 unpwuntinpbip g< huin 250,0 60,0 15,0
30199792  |opwgnyghp < hwin 2000,0 5,0 10,0
22811150 unpwuwnbiinpbip Q< hwin 2 400,0 8,0 19,2
30199792 |opwgnygtip < hwwn 800,0 11,0 8,8
39263320  |opwgnyg, wwwh q< hwwn 1000,0 14,0 14,0
30195920  [JwqUuhuwlywt gputnwiunwlubp q< hwwn 20 000,0 2,0 40,0
39292120 gnpwunwfuwnwlubinh dwpphsubin QL hwn 700,0 24,0 16,8
30195700 qpunwfutnwytibph dwppdwt hwwpwdniubp Ywd ac huitn 750.0 1.0 0.8
Wwpwgwubn
39831274 Eypwuh dwppdwl uynysbip Q< hwn 1000,0 1,0 1,0
30192127 [gpswwnnuhbip q< hwn 600.0 9,0 5,4
30199238  [uwdwyp dpuwin, A6 dlwswthh a< huwn 12,0 100,0 12
30199230  [uwdwlh dpwp, A5 dluwswthh q< huwitn 25,0 100,0 25
30192154 |Yuhph |nwgnighy pwpahlubn G< hwn 2300,0 2,0 4,6
37821190  |qdwqpuiuwintbl (Yuyw) 9< ukwp 120,0 80,0 9,6
35821400  [npnpubip < hwwn 7000,0 10,0 70,0
30192320 {wwhsubiph dwwwybuubn 9< hwn 5200,0 4,0 20,8




3019751 unjwpwgenine Q< g 1100,0 300,0 330,0
22611400 ubiplbip nywgpwlwu depbuwubph hwidwp q< ug 8 000,0 2,0 16,0
22611400 ubiplip wywgpwlwy dbptuwutph hwdwnp < Ug 8 000,0 2,0 16,0
30192760  |pnuwiypupy < pu 2000,0 150,0 300,0
42991160  [inwwgpwlwl uwnpbiph dwubip b wwpwqwubin e huwtn 50 000,0 1,0 50,0
22451210 nhyndubp uu hwin 2700,0 1500,0 4 050,0
22111120 gpwnuwnwuh gppbp Q< hwwn 22 .000,0 2,0 44,0
2111120 gqpwrpwpwuh gppbip < huwn 15 000,0 2,0 30,0
30197622 |enine, A4 $npdwinh q< g 600,0 60,0 36,0
30192130 dwinhunubip q< huwn 50,0 7,0 0,4
30199430  [pnine upnuiubph, nngulubpny Q< hwwn 700,0 4,0 2,8
30199420  |pninp Upnwitbiph hwdunp, unutidywdpny Q<L hwin 150,0 6,0 0,9
30192100  |ntnhu hwuwpwl 9< hwtn 100,0 4,0 0.4
30192133 uphsutip 14 huwn 100,0 3,0 0,3
30192121 anhs qunhlwdnp Q< hwtn 100,0 22,0 22
30192121 anhs gunhywinp < hwin 100,0 3,0 0,3
30192121 |gphs quphlywynp q< hwitn 100,0 6,0 0,6
30192128 [qphs qbyuyhu < huwtn 200,0 25,0 5,0
30192128 [qphs glijuyhu gL hwwn 200,0 12,0 2,4
39241141 nwiwl' gpuwubywlwh 9 hwn 120,0 3,0 0,4
39241210 |dypwun, gpuiubtywlwh Q< hwin 300,0 2,0 0,6
30197322 Luwphs, 20-50 phipph hwdwn 9 hwn 1500,0 2,0 3,0
30197323 |yuinhs, 50-hg wytijh plipph hwiwn gL huwtn 6 500,0 1,0 6,5
30197112 Yuphsh dnwnuipwnt yuwbn, dhght Q< wnnuth 120,0 4,0 0,5
30197100 Ywphsh dbinwnwiwnb Ywwbp, dbé Q< wnith 350,0 4,0 1,4
30192160  |awippfutitip < huwin 200,0 3,0 0,6
30192710 unubdwdwwnhwn, gpuutitjwlw)hu QL hwun 300,0 2,0 0,6
30192131 dbfuwthlwljwt Yud upynn dwinhnutin Q< hwtn 200,0 5,0 1,0
30192135 |qpwdhwnti dhenty, dwinhinh hwdwn Q< winuth 70,0 5,0 0,4
30197231 pnRpwwwlwl, ynhdbpwiht punwpe, Sy a< huwin 10,0 300,0 3,0
30192125 dwplbputip 9< hwn 120,0 3,0 0.4
22811150 unpwuntinpbip Q< hwtn 250,0 5,0 1,3
30192780  |bowpuwduitihy q< huitn 200,0 4,0 0,8
39263510 ubindwly, thnpp q< hwtn 15,0 48,0 0,7
39263520  |ubindwly, dhohu Q< hwwn 15,0 48,0 0,7
39263530  |utindwl, Ut Q< hwn 20,0 48,0 1,0
30192127 |gpswunnuhbin Q< hwtn 600,0 2,0 1,2
30193200  |PnerRinh hwiwip Uwihunbudws, ubnwth [ o f 2500,0 2,0 5,0
Upw npynn nupwlwownbin

22851200  |pnpwujwtiwlubp q< hwtn 800,0 2,0 1,6
30141200 hwpwuwpp, gpuubtywlwht < hwtn 3 000,0 1,0 3,0
30197622 pnine, A4 $npdwnh q< Ug 600,0 50,0 30,0
30197622 |pnune, A4 Snpdwinh < hwtn 800,0 20,0 16,0
30199420  |eninp Upnulubiph hwdwp, unutdywspny < hwwn 1300,0 20,0 26,0
30192114 fpwuwp, Yuhph pwpdhyh hwdwp QL hwn 350,0 5,0 1,8
39265100  |Ytinhlutin L onwiljutip < hun 780,0 10,0 7.8
30141200 hwaywuwnp, gpuubtjwyuwhu QL hwtn 3 000,0 3,0 9,0
30192121 anhs qunhlwynp Q< huwn 120,0 50,0 6,0
30192130 |dwuwnhwnubip QC hwn 800,0 10,0 8,0
30192133 |uphstibin ag hwtn 180,0 20,0 3,6




30192100  [ntwnhb hwuwpuwl Q< hwn 240,0 20,0 4,8
39292520 pwiunt’ Bnwilyniuh 9L hwwn 290,0 10,0 29
30192125  [dwplbiputip < huwtn 320,0 10,0 32
30192125 dwnybipubp q< hwtn 400,0 10,0 4,0
30197322 [Yuiph, 20-50 plipph hwdwp 9< husn 2720,0 5,0 13,6
30197112 Ywphsh dbnwnwiwnb Yuybp, dheht Q< umnith 120,0 20,0 2,4
30197340 Jwuywilwinhs 9< huwtn 150,0 5,0 0,8
39263410  |wdpwy, thnpp 9< wntth 150,0 10,0 1.5
39263510  |ubmdwy, thnpp 9< hwwn 15,0 360,0 5,4
39263520 ubindwly, dhghu qc hwn 15,0 360,0 5,4
39263530  |ubindwy, Ub& 9 hwtn 20,0 360,0 7,2
39241210 [Wypwn, gpuubtywlusht 9 huwitn 500,0 10,0 5,0
39241141 nutwl’ gpwubtywlwhu 4< hwtn 400,0 10,0 4,0
30197333 [nuijhs thnpp Q¢ hwtn 1.800,0 3,0 5.4
30197120  |yniqudttp ac wnuh 180,0 10,0 1,8
39292120  |qpwunwlutnwlutinh dwpphsutip QL hwn 350,0 3,0 11
39292110 [gpwunwfunulutp ac hun 20 000,0 2,0 40,0
Sorsaagy | Tecmenetnh Hankip Wdivietiln ool | o hutn 2500,0 6,0 15,0
dnw npynn nuipwlwowntp
30192160  |owphjutibp qc hwin 350,0 10,0 3,5
30197234 |pnpwuwiiwl, Ynon Yuquny Q< hwn 700,0 10,0 7.0
30197234 |pnpwwwliwl, Ynon Guquny Q< hwn 700,0 10,0 7,0
30192231 ulyng a< hwtn 100,0 30,0 3,0
30192710 unubidwiduwinhin, gpuwubitjwlwht 8¢ hwn 180,0 10,0 1,8
30197622 pnine, A4 npdwnh q< lg 600,0 10,0 6,0
30197650  |pnine’ opubpwhu < g 650,0 3,0 33
30192121 [qphs qunhywynp LYe hun 100,0 24,0 2,4
39263410  |wdpuwl, thnpp QL winith 150,0 15,0 2.3
30192130 Uwwnhinubip Q< hwin 50,0 10,0 0,5
30192125  |dwnybpubp Q< hwtn 120,0 5,0 0,6
30192100  |nbwnhu hwuwpuwl Q< hwtn 100,0 3,0 0,3
30192133 |uphsutip q< huwtn 100,0 3,0 0,3
30197231 prrwwwlwy, wnihdbpuwihl punwie, Sy Qs huwin 10,0 300,0 3,0
30197234  |pnpwuwwtiul, Yngn Yuqung Ge huin 700,0 5,0 35
30192231 ulyns q< hwwn 150,0 2,0 0,3
22811150 Unpwinbiinpbip Q< hwn 250,0 20,0 5,0
7 664,6
Swdwhwpgswiht whubhw, ywhbunwiwubp

30211190 widtwhwl hwdwlwpghsubip Q< hwn 286 000,0 1,0 286,0
30211200 rynipuwilipp hwdwlwpghsubip q< huwtn 364 400,0 1,0 364,4
30211200  |mynupwijhp hwiwluwinghsutin 9< huin 400 000,0 1,0 400,0
30239100  |wunnGbuwhwhidwy Jhphuw < huwin 190 000,0 2,0 380,0
30239100  |wwwnGbuwhwidwl JEpbuw < hwwn 110 000,0 1,0 10,0
30239100  |wwwbbtwhwudwy Jdhphuw Q< hwwn 90 000,0 1,0 90,0
30239100 wuwwnbbuwhwudwu Jbpbuw q< hwn 90 000,0 1,0 90,0
30237490  |hwdwlwpgswjht dntpwnp Q<L hwn 65 000,0 3 195,0
30239100 Wwindbuwhwudwl dapbuw L hwn 190 000,0 1 190,0
30211190  |wtisbwlwl hudulwnghsut 9 huwin 240 000,0 6 1440,0
30239100 WwwnGbuwhwudwu Japbuw G< hwn 90 000,0 3,0 270,0




31641100 hwyiniwpbpdwt bhlupulwu uwppwinpnufubip 9< hwin 8 000,0 1,0 8,0
31641100 huwinuwpbpdwt bEGunpwlwy uwppwynpnufutip 9< hwun 4000,0 1,0 4,0
30211250 wpfuwnwupwht Yuywy < hwin 13 000,0 1,0 13,0
30234640 $itiz hhannnupyniu, 16GB q< hwin 5 000,0 6,0 30,0
30236100 hwdwlwngsh hhgnnnueyniup dbidwgunn uwpptin q< hwn 42 000,0 2,0 84,0
30236100 hwiwlwnqgsh hhonnnugjniup dbdwging uwnpkp < hwn 30 000,0 5,0 150,0
30236100 hwdwlwngsh hhznnaugniup dbdwgunn uwpptip 9L huwn 15 000,0 30,0 450,0
30236180 |°wfnunu hhonnnupuils puintin (bnuightn, < | hun 18 000,0 15,0 270,0
wnbinwnpnu)
31221230 | uhwguwl duwynifutibp 9 huwtn 25 000,0 10,0 250,0
31221230 dhwgdwh dwinifutibtip 9L hwn 40 000.0 1,0 40,0
44163250 dhwlghs /ynubiljinnp/ wipwgting uwnpp 9L hwun 20,0 1500,0 30,0
44163250 dhwlghg /Ynubilinn/ wipwging uwpp Q< hwwn 10,0 100,0 1,0
31651400 Ublnwuhy dwwywybtubp G< hwn 150,0 30,0 4,5
44511240 wpguuubin Q< hwn 2 000,0 2,0 4,0
44163250 |dhwlghs /ynubilyvinp/ wipwgting uwpp g hwtn 12 000,0 1,0 12,0
31681700 pwdwbwpwn wnwh Q< hwn 10 000,0 10,0 100,0
31681700 pwdwbwpwp nnup g huwin 5 000,0 5,0 25,0
31221230 Uhwgdwl dwinifutbp 9L hwin 1000,0 20,0 20,0
31221230 | dhwguwt duwynijuttn Q< huwtn 1500,0 10,0 15,0
30237460 hwdwlwpgswiht unbntiwswnbn Qg hwn 2500,0 30,0 75,0
30237411 dluply, hwdwlwngswiht, jwpny Q< hwwn 2000,0 30,0 60,0
30237113 Unublyunnp (Ygnpnutin) < hww 5000 4,0 20,0
30121460 wnubipwhu pwpwinphoutin G< hwtn 2500,0 10,0 25,0
30121460 wnubipwht pwpwphoubin q< hwn 2500,0 5,0 12,5
30121460 winubipwiht pwpwnphgubip qc hwtn 2500,0 20,0 50,0
30121460 wntbipwjhu pwpuphgubip 9 hwuwn 6200,0 3,0 18,6
30121460 wnubipwihtu pwpwphgutip Qg huwin 5 400,0 3,0 16,2
30121460 wnnubipwihl pwpwnphgutip q< huwtn 2 500,0 20,0 50,0
30121460 wnubipuhu pwpwnphgutip Q< hwin 3000,0 5,0 15,0
30237200 hwiwlwpghsubiph wwpwquibp qc hwn 6 000,0 2,0 12,0
30237200 hwdwlwpghsubiph Wwpwqwtn < hwn 900,0 20,0 18,0
30237200 hwdwlwpghsubiph wwpwowubn 9< hwin 840,0 40,0 33,6
30237200 hwdwlwnghsubiph wwpwquwibp Q< hwwn 840,0 40,0 33,6
30237200 hwdwlwnghsubinh wwpwqubp q< hwtn 1500,0 10,0 15,0
30237200 hwdwlwpghsubinh wwpwqwubp 9L hwwn 990,0 10,0 9,9
30237200 hwdwlwpghsubiph wwpwquwubp 9L hwn 1200,0 5,0 6,0
30237200 hwdwywpghsubiph wwpwqwubp < hwtn 1800,0 2,0 3,6
30237200 hwdwYwpghsubinh wwpwguwubn q< hwn 2600,0 10,0 26,0
30237200 hwdwlwpghsubph wwnwquwbnp e hwwn 1600,0 15,0 24,0
30237200 hwiwlwpghsubnh wwpwquiutp < hwn 5500,0 4,0 22,0
30237200 hwdwlwpghsubph wWwpwqwtn q< hwn 1500,0 5,0 ]
30192320 nwhsubinh dwwwybuubp Q< huwin 2000,0 10,0 20,0
30192320 twhsubiph dwwwybutbn Q< hwn 1200,0 13,0 15,6
30192320 | unwyhgbbiph dwwwybtubp 9< huin 4 400,0 3,0 13,2




tnnbibip [wqbipwht

30121470 tnwyhglibiph/hbinwuwwngbuwhwunn Ubipuwtitiph Q< Ug 5500,0 40,0 220,0
hwdwp
tnnbibip juqbpwh
30121470 tinujhsubiph/hbinwwwingbiuwhwunn dbpbuwltinh 8¢ Ug 5500,0 10,0 55,0
hwdwp
wnubp (wgbipwhu
30121470 wwhgubiph/hinuwindbtwhwing dbpbuwubph q< g 7 000,0 5,0 35,0
hwdwp
wntbip jwqbpwhu
30121470 nujhgubiph/hbnwwwuinbuwhwunn dbpttwttph 9< Ug 5500,0 3,0 16.5
hwdwp
wnnubip wgbpwht
30121470 [unujhgubiph/hbnuwuunnuwhwing dbpbuwbtph 9 g 5 600,0 5,0 28,0
hwdwp
wnnubip |wqbpwhu
30121470 tnuhsutiph/hinwuyuinébuwhwunn dhpbuwutiph q< g 7 800,0 3,0 23,4
hwdwp
30237200 hwiwlwpghgubiph wwpwguwltp q< hwtn 5000,0 10,0 50,0
30237200 hwiwlwpghsubph wwpwquwubnp q< hwtn 3200,0 10,0 32,0
30237200 hwdwluwpghsubiph wwpwquwbp Q< hwin 3000,0 5,0 15,0
30237200 hwdwlwpghsubinh wwpwquwutp Q< hwwn 3 400,0 2,0 6,8
30237200 hwdwlwpghgubph wwpwgwubnp Q< hwin 1500,0 4,0 6,0
30237200 hwdwlwpghgubiph wwpwquutp 9< hwwn 1500,0 2,0 3,0
30237200 hwdwlwpghsubph wwpwgwbbp q< huwtn 2000,0 2,0 4,0
30237200 hwdwlwpghsubph wwpwqwitn Q< hwwn 1300,0 1,0 1,3
30237200 hwdwlwnghsubiph wwpwouwbp Q< hwn 500,0 1,0 0,5
30237200 hwdwlwpghsubph wwpwqwutp q< hwn 100,0 5,0 0,5
30237200 hwiwlwpghsubinh wwpwowtbp q< hwn 100,0 5.0 0,5
30237200 hwidwlwpghsubiph wwpwqwutp Q< hwwn 100,0 5,0 0,5
30237200 hwiwlwnghsubinh wwpwqutbn Qs huwtn 100,0 5,0 0,5
30237200 hwdwluwnghsubinh wwpwquwtbp < hwn 300,0 100,0 30,0
3023711 utniguw dwpwnlyng 9L hwin 25 000,0 10,0 250,0
30237130 hwdwlwngswht pwpunbp Q< hwn 2500,0 5,0 12,5
30237137 |wbuwpwpwnbip L hwn 30 000,0 5,0 150,0
30237200 hwdwlwpghsubinh wWwpwquwtp Qc hwwn 2000,0 10,0 20,0
32421200 guitgwjht pwnunphsutin q< hwn 485 000,0 1,0 485,0
3086160  |>aerunnrd RoRepexAl ot (Ypuand, 9< | hun | 280000 10 28,0
wnbnwnpnid)
30237137 unbuwpwnwnbp QL hwin 275 000,0 1,0 275,0
31721100 EEyupwdbfuwuhlwlwy uwpptp Q< hwn 1350 000,0 1.0 1350,0
30237200  |hwdwlwpghsubiph Wwpwquwtp q< hwn 5300,0 2,0 10,6
30121480  [inwwiywindbuwhwunn uwppbiph wntbp Q< lg 7 950,0 5,0 39,8
30121500  [pwpwphglbip 9< huwn 40 000,0 1,0 40,0
30121480  [jnwwuwwinGbiwhwunn uwnptiph nintbp 9L ITe] 7950,0 3,0 239
30237200  |hwdwlwpghsubiph wwpwqutn q< hwwn 3 450,0 2,0 6,9
30237200  |hwdwlwpghsubph wwpwqwtn q< hwwn 1600,0 2,0 3,2
30237200 hwdwlwpghsubph wwpwgqwubp < hwin 5300,0 2,0 10,6
30237490  |hwdwlwngswiht dnuhunnp < hwun 220 000,0 1,0 220,0
30232110 (wgbipwihu mwyhsubp 9< huwin 190 000,0 1,0 190,0
30211190 widtwlwt hwdwhwnghsubn s¥4 hwn 240 000,0 3,0 720,0
30237132 wnuwpht uwnpbiph dhwgdw jwpbp (usb) < hwn 8 000,0 3,0 24,0
32551160  [htnwfunuwih uwnptip 9L hunn 13 000,0 1,0 13,0




30211280 hwdwlwnghg wdpnnep dbynud QL hwwn 380 000,0 1,0 380,0
30211160 :l:‘“n‘;';::;“h“‘ﬂ“ Pt (cpst) owd 3¢ hwin | 415 000,0 1,0 415,0
30232110 [jwiqbipuyht tnwhsubp 9L hwwn 148 000,0 1,0 148,0
30211190 |wuduwlywl hwdwlwpghsubp < hwwn 240 000,0 1,0 240,0
30237200  |hwdwywpghsubiph wwpwqubp QL hwwn 12 000,0 1,0 12,0
30211190 {wldbwlwy hwdwlwnghsutip 8¢ hwn 240 000,0 1,0 240,0
30211280 hwdwlwnpghg wdpnnop dtynud 9 hwn 700100,0 3,0 2100,3
30211200 rynipwilyhp hwdwlwpghsutp g hwitn 568 700,0 3,0 1706,1
38651200 | wpnytlwnpubip 9 huin 323 400,0 1,0 323,4
30232110 |jwqbpwjht wuwhgubp 9< hwin 170 000,0 1,0 170,0
32341130 wlwlgbpht npuynn wlwugwywiubn < hwn 10 440,0 3,0 318
31151120 wfuwthw uungdw wnpniputin 2L, hwn 31 400,0 3.0 94,2
16 189,4
Stnbuwlwt wypwlpbbp

18141100  |wpfuwnwipwiht dtinungltin 9< qnyg 200,0 30,0 6,0
18141100 w2fuwwinwupwip dkntungubip Q< qnyq 220,0 300,0 66,0
18141100 w2tuwnwupwyhu dbnungubp e qnuyq 250,0 240,0 60,0
18141100 w2fuwnwpwih dEnungubip Qg qnygq 1500,0 2,0 3,0
18421140 dblwuguujw oginwignpdiwl sknungubip hE qnuyg 150,0 100,0 15,0
39812600  [uwppnn dwdniyubip L thnghutip < hwtn 450,0 3,0 14
39831247 (“r‘uh;ﬁ;‘:’;)"” POTIPUY, Utk g et qc thuin 700,0 200,0 140,0
24451141 wfuwnwhwthg htinnuy ujnuebip < |hunp 220,0 279,0 61,4
39831243  |wgph thnzh wywinduwen q< Ug 1.000,0 15,0 15,0
39831242 [Ywgph thngh dbinpny Ywlwint hwdwp Q< Ua 700,0 42,5 29,8
39831100  ||wgnn ujnipbip < thup 550,0 51,0 28,1
39831100  |jywgnn Wniphn QL thunp 450,0 165,0 74,3
39831244 ofiwn, inunbuwljw Q< Ug 1100,0 5,0 5,5
39831245  |ofiwn, htinny 9L (hnp 400,0 60,0 24,0
39812410  [Ywhnyph thwyigdwl dhong &< hwn 700,0 73,0 31,1
39221490 uwntugubp q< hwtn 3 300,0 2,0 6,6
39221490  |uwmugqubp Q< hwn 250,0 70,0 12,5
39812100  |hwnwlh dwdhly q< g 1400,0 2,0 2,8
39831273 hwwnwyh Jwppdwu ujnyetip Q< Lhtp 700,0 10,0 7,0
39531500  [gnpgh Ywnpubip 9L u2 5 000,0 9,7 48,6
39831283  [hwunwyh Yugdwl jwe q< hwwn 300,0 78,0 23,4
39831283 hwinwlh Jwgdwl jwe Q< hwtn 400,0 170,0 68,0
39522330  |dwppnn Ywnnputp QL hwin 500,0 263,0 131,5
39522250  [thngnt hwjwpdwl Yunnpubp Q< hwn 400,0 30,0 12,0
39811300  [hnwuwgtipdhs, onp Q< hwn 500,0 50,0 25,0
33761100 qniqupuiuh pnine < hwn 130,0 620,0 80,6
33761100 qniqupwh pnine q< hwtn 150,0 200,0 30,0
39513200  |pnpeb wudbknnghl, Gpystipn 9< hutn 150,0 20,0 3,0
44511120 gnquighwlubn Q< hwwn 2000,0 10,0 20,0
18931170 lwnphg ujwniuwlutp < hwn 100,0 200,0 20,0
19641000  |wnihkphBuwihl wwply, wnph hwidwp qc hwwn 600,0 20,0 12,0
19641000 wnihkehBuwht wwpl, wnph hwdwp 94 hwn 800,0 20,0 16,0
19641000 wnihterhituwhtu wwpy, wnph hwdwp < hwn 400,0 20,0 8,0
44611300  |wnph Ynuwnbjubptibp Qg hwtn 90,0 100,0 9,0




19641000 fwnihtphibuwht wwny, wnph hwdwp 9< hwin 70,0 500,0 35,0
19642100 wnihbphibuwht w)| wpnwnputp Q< hwwn 20,0 100,0 2,0
19642100  |wnihtphbtwht wy wpwnpwup Q< huwtn 30 000,0 4,0 120,0
19642200 ;Eg:;rﬂl:b:g&hnrawquﬁ e 9< g 1200,0 40,0 48,0
19642000  |wnihkehibuwht wuwply, utinwht q< hwuwn 1,0 500,0 0,5
39221410 |wybjubip 9< hwn 900,0 253,0 227,7
39221410 witjubip <L hwtn 500,0 200,0 100,0
39224331 nny| wjwundwub Q< hwuwn 1000,0 4,0 4,0
39224331 nny| wjwundwub < hwn 800,0 17,0 13,6
39224331 nny| wjwundwub Q< hwn 500,0 10,0 5.0
39224332 nnyl, ghuljwwuin < hwtn 1500,0 20,0 30,0
39298300  |Swnlwdwutbp 9< hwn 1000,0 5,0 5,0
39298300  (dwnywuwuutp 9< huwin 700,0 5,0 35
19441200 uhupbwnhly phy < g 1400,0 12,0 156,8
39224560  |wynuihtwphpbin ($niguw) q< hwitn 1100,0 20,0 22,0
39298910 innbiwdwnubp 9L hwtn 200 000,0 1,0 200,0
31521470 [dguwlwu inbipun nitbignn gnigwwnwlunwlubp < hwin 100 000,0 3,0 300,0
39224331 nnyj wjwundwub QL hwin 3100,0 2,0 6,2
33141118 wudknnghlubp & hwwn 700,0 3,0 2,1
33761400  |pnpeb wusbnnghlutip 9L hwtn 200,0 10,0 2,0
24451141 wiutnwhwhs htinnly Wynuetp a<L lhtnp 350,0 5,0 1.8
39831245  |ofiwn, htinniy 9< Lhunp 400,0 5,0 2,0
38411200 obpdwswihtip g hwn 350,0 20,0 7,0
24451141 wfunwhwuhs hbnnly Ynuyebip Q< Lhunp 1600,0 10,0 16,0
24451141 wlunwhwuhs htnnuy unuyebp QL |htnp 1600,0 10,0 16,0
39831262 htinnily ofwnh puwsfuhs uwpp 9< hwn 3000,0 2,0 6,0
33141129 nhdwl < hwin 45,0 250,0 1,3
33621641 | "UUuUEIuhg (wlinhubiugnhl) U whunwhwhg a¢ hwin 1050,0 600,0 630,0
dhgngutin
39831277 ofiwnh wywndwwn nhuwbuubputip < hwwn 2000,0 15,0 30,0
19441200 uhupbwhl by 9L ba 1 400,0 800,0 1120,0
33621641 | "uluibifus (wtunhubupnhly) U wiuunwhuwthy 9< hwitn 1650,0 10,0 16,5
dhgngutin

39513200  |pnpb wudkinnghl, tplgkipun < hwwn 800,0 20,0 16.0
39713410 hwinwlh dwppdwb uwppbp q< hwwn 25 000,0 1,0 25,0
39221480  |gmqupuwlh funquitiwlubp q< hwtn 1500,0 4,0 6,0
39839100  |gqnquiehuwl, wnpp hwywpbynt hwdwp, dnnny 9< huwwn 5500,0 1,0 55
39514400  |enpeb upphsubinh wywnuwwn nhuwbtutip Q< hwwn 15000,0 2,0 30,0
34921440  |pwihnuuibinh U wnph nwpwtbp b wnpwdwtibp Q< hwtn 13 000,0 2,0 26,0
34921440 |pwihnutibiph L wnph wwpwibp b wpudwbtbp G< hwin 1900,0 9,0 7
39221420 funquitwlutip 9L hwn 3500,0 1,0 35
39221490  |uwniuqubip 9< hwn 430,0 10,0 4,3
39831100  |jdwgnn Yyniebp Q< (hunp 550,0 4,0 2,2
39831245 oGwn, htinnty Q< thunp 800,0 3,0 2,4
39522250  |thnont hwywpdwt Yunnpubin QL hwn 750,0 2,0 1,5
18931130  |dwupngubiph wwplybp uu hwn 140,0 7000,0 980,0
35121500 fhunnnly vpwbiwlyniejwt ibfutpywlwl dhgngltip uu hwn 80 000,0 3,0 240,0




19721200 _ |puipdp wiipnipjul phb uu g 1400,0 250,0 350,0
5970,8

Snpshpllin
39241130 |niuhybipuw) nwwlubp 9< hwtn 500,0 6,0 3,0
39241130 [mupytipuw) nwwyubp < hwin 100,0 50,0 5,0
44511170 |dhnglutip q< hwn 2 000,0 3,0 6,0
44511390 [qnpdhpubiph pnbiwljutip G< huwin 800,0 10,0 8,0
16161100 w)) quitwqu wigbgnpdwlwl uwppuinpnultbn q< hwin 4 000,0 10,0 40,0
44511200 |akinph unngubin 9< hwtn 6 000,0 5,0 30,0
44511130 wjgbignpéwljwt bnwuubp 9L hwwn 3700,0 20,0 74,0
14811300 [hnlynn uljwjwnwlutp a¢ huwtn 800,0 10,0 8,0
14811300 |hnynn ulwwnwlutip < hwn 1400,0 30,0 42,0
44511290 dwubluwnwnawyubp G< hwin 5000,0 1,0 5.0
44511290 [dwubluwnwnpawlutip QL hwin 15 000,0 1,0 15,0
44511370 [qnpdhplbinh hwywpwsniubp < huwin 24 000,0 1,0 24,0
44511230 |nnip 9< hwtn 7 000,0 1,0 7.0

267,0

Chuwpwpwlul wuypwbptbp, uwbhnwpwliwy

inkjubthljw, uwppbip
44163170 |nbunhub fjunnnywly 9< dtitnp 400,0 25,0 10,0
39515440  [ninnwhuuwg 2ipnwwpwgnyn 74 a2 5000,0 36,4 181,8
24911500 [unupba (wkpngnp) 9< hwin 2500,0 27,0 67,5
31711160 Eiyipnntn G< Ug 1200,0 10,0 12,0
44511220 tnwnwinbuwl dbnph gnpdhpubip G4 hwin 2000,0 1,0 2,0
44411740 |qmiquipuiiwlntp < huwtn 30 000,0 2,0 60,0
42121190 |oph wnuut a< huwn 15 000,0 1,0 15,0
42121190 |oph wndwhin q< hwtn 35 000,0 1,0 35,0
38421110 onwswithbip < huwin 230 000,0 4,0 920,0
44411110 onh npwly, 1 thwlwlny qg hwn 1000,0 30,0 30,0
42131470 dnpwlubiph Jwutip 9< hwin 700,0 10,0 7,0
42131170 opwijht hnupbiph upquidnpdwt thwlwuubp 9L hwiwn 1500,0 6,0 9,0
42131170 opwyht hnuptiph Yupquinpiwt thwlwuubp G hwn 2000,0 2,0 4,0
44163280 onh L gninpzne funnndwljubp L hwin 1000,0 20,0 20,0
44521120 nnwt thwlwbubp Q< hwtn 5000,0 1,0 5,0
44221171 nnubiph hwdwp vwhdwuwgwlnuiutp Q< hwn 8 000,0 4,0 32,0
44201171 nnutiph hwiwn uwhdwuwihwlnidutn < hwtn 10 000,0 6,0 60,0
44221171 nnbbiph hwdwp vwhdwbwdwnuiubp 9L huwin 13 000,0 2,0 26,0
42131480  [hwluwtittiph dwubip 9< huwtn 6 000,0 10,0 60,0
44111413 jniqwubiply q< g 2500,0 20,0 50,0
44821000 |wp, dwupwhuwwinwlh S< thunp 5000,0 10,0 50,0
44111417 bwhwubipl 74 lg 1300,0 10,0 13,0
44111414 ubiply’ jwnbipuw)ht < g 900,0 50,0 45,0
44111412 Jubply, shtwpwpwiut q¢ g 1500,0 8,0 12,0
14811300 hnynn uwywnwyubp Q< hwwn 14 000,0 2,0 28,0
44531M0  [thwjnh wwnnunwlutp G< Ug 2200,0 0,5 151
44511260 hnywpeninpe 9< u2 1900,0 1.0 1,9
44511260  [hnywenine q< a2 2000,0 1,0 2,0
44511260 hnjwpninp Q< u2 2100,0 1,0 2,1




44521230 [gnpdhputiph hwywpwdniubip < hwwn 10,0 500,0 5,0
44521230 [gnpdhplbiph hwywpwéniubp Q< hwwn 10,0 500,0 5,0
44192630 [htinynuu 3¢ huitn 40,0 25,0 1,0
44192630 htinjnw sV hwun 50,0 25,0 13
44192620  |dbju dbunwnwluy q< Ug 800,0 33 2,6
44192620  dbju downwnwlwu 9< g 800,0 33 2,6
44192620  |dbju dbinwnwlwu 9< Ug 800,0 3.3 2,6
44521170 |ynnujtpubip < hwtn 2000,0 20,0 40.0
44411751 uwuhwugnygh pwph wwpwqwubp < hwwn 2500,0 3,0 7.5
44411710 uwbihwugnygh buwnuwintinkp q< hwn 4 000,0 5,0 20,0
44411751 uwlhwlgnygh pwph wwpwgqwtn < hunn 4 000,0 8,0 32,0
44111200 ghibiun Q<L g 60,0 7500,0 450,0
14211000 wywq, shtwpwpwljwy G J3 7 500,0 10,0 75,0
44163130 wWwpwlubp < dbnp 1200,0 65,0 78,0
44521120 nnuw thwlwutp 9 hwin 2500,0 6,0 15,0
44112170 lhun(knwd G u2 2 000,0 150,0 300,0
44161130 opwinwp funnnyjwlwawnbp Q< dbwp 40,0 100,0 4,0
44163170 nknhut funnnduwl Qg dbwnp 400,0 40,0 16,0
44221100 wwinnthwutbp 9< uz2 25 000,0 30,0 750,0
44118400 wpn$uwunhy < u2 3700,0 216,0 799,2
42661300 | tinwlgdwl uwnpbn 9< hwtn 44 000,0 1,0 44,0
31221241 mynwwybj-winninwly Q< hwn 25,0 150,0 3.8
31221241 nynwwyb-wyinniunwly 9 hwtn 20,0 150,0 3,0
31641216 hwinntl wwnnunwl a< hwin 500,0 2,0 1,0
44163270 funnnywluyht uwpptp b L hwwn 700,0 30,0 21,0
44163270 funanywljuhtu uwnpptip Q< hwn 500,0 30,0 15,0
44163270 | funnnyuwljwiht uwpptip B8 hwtn 900,0 50,0 45,0
44423600 Ywsnit dwwwybuubip q< hwn 500,0 20,0 10,0
44511330 wunnunwlwhwuubp < hwn 10 000,0 1,0 10,0
30197100 Yuphsh dEnwnwwnpb Yuwbn, Jbs q< unnith 2600,0 15,0 39,0
39263420 wdpwy, dbad G winith 1000,0 20,0 20,0
42661500 bnwlgdwl ny biunpwlwy uwppkp q< hwn 1200,0 10,0 12,0
24911900 uwihyh unupud uu g 180,0 350,0 63,0
44921500  |dbhwdwdhl’ ghwuwght uu Ug 1500,0 6,0 9,0
19521300 wnhunhpnt uwihlubp uu u2 4000,0 45,0 180,0
44411300 [Ywgwpwuubp hwn Q<L 43 000,0 1,0 43,0
39141360  |innuubtywlh Ywhnyp hwin Q< 50 000,0 1,0 50,0
39141360 (nnwubitywlh Yuhnyp hwn Qz 25 000,0 1,0 25,0
44411740 qQnigwnwuwlnup hwn Q< 55 000,0 1,0 55,0
44411760 qniqunwuh pneh pntwy hwn Q< 9 000,0 1,0 9,0
5026,0
Ubtiguinuypl wkfutshiuw
39714210 onnpuwlihs, 9000 BTU < hwwn 230 000,0 3,0 690,0
39714230 |onnpwlhs,18000 BTU QL hwin 300 000,0 1,0 300,0
39721310 onwnwpwgnighsutin QL huwitn 37 000,0 4,0 148,0
42511129 inwpwdph YEUnpnuwgywsd gbinmgdw Ywpuwlbp q< hwuwn 450 000,0 1,0 450,0
39711350 duwnuwg QL hwn 130 000,0 1,0 130,0
44511220  |nwpwwnbuwl dknph gnpdhpubp G< huwn 80 000,0 1,0 80,0




Eiblnpwlwl tnwpwgnighs’ obipduwht

39721500 R Q< hwn 35000,0 1,0 35,0
31151170 dwpwnlyngubiph |hgpwynphsubip 9L hwtn 5000,0 4,0 20,0
31442100 Ynunwlhg dwpinlynglbip q< hwtn 2100,0 80,0 168,0
39714220  Jonnpwlhs,12000 BTU G hwn 270 000,0 2,0 540,0
39714240 |onnpwlhs, 24000 BTU < hwwn 320 000,0 2,0 640,0
39714230  |onnpuwlhs,18000 BTU < hwwn 300 000,0 5,0 1500,0
39221290  |pbjupy 9L hwn 25 000,0 1,0 25,0
39711220 biunpwlwi upGbutp Q< hww 205 000,0 1,0 205,0
39711140 YEugunwiht uwnbwpwubp Qg hwn 280 000,0 3,0 840,0
39711290 dhypnwihpwiht Junwpwitbp Q<L hwn 65 000,0 1,0 65,0
32324900  |hbinnwwnwgnygubip < hwun 180 000,0 2,0 360,0
18521100 dwdwgnygubp 9< hwn 15 000,0 1,0 15,0
39713432 [thnobilyny < hwin 235 000,0 1,0 235,0
39713432 |thnabilny < hwtn 82 300,0 1,0 82,3
6528,3
by Uypwiipibp, uwpphp
31211120 wwwhnyhsubtiph wplntp qc hwn 3 000,0 3,0 9,0
31681630 bilEyupwlwi wwwhnydhs, tnw$wg, 63U & hwtn 6 000,0 17,0 102,0
31681600 blEYyupwlywu wwwhnyhs, Q<L hwn 3 000,0 1,0 3,0
31211180 wywndwwn wugwinhsubip qc hwwn 1000,0 5,0 5,0
31211180 wywnduwin wugwinhgubp q<L hwn 1600,0 5,0 8,0
31211180 winndwin wugwinhsubip 9< hwwn 1700,0 2,0 3.4
31681600 blyunpwlwt wuyuwhnyhs, 9< hwwun 350,0 4,0 1,4
31681600  |hjblwpwlwl wwwhnyhs, < hwn 600,0 4,0 2,4
31686100  |hEywpwlwu fupng' dhwplibin, hnnwtignuwing, -16U 9< hwwn 250,0 60,0 15,0
31331270 E[:;m"w“wh DT g, pasdgtel, AL 218 o | 200,0 200,0 40,0
Basipen  [APRAMHR WY RGN, uiughn, TV, 9< dbnp 250,0 1000,0 250,0
2x2.5 uu2
31331200 [EUnP " wnliu, puiqduighn, DT, 9¢ | dtunp 400,0 100,0 40,0
2x4.0 Uu2
31321110 guwén b dhoht juipdwt dwintjutibip QL dbwnp 600,0 100,0 60,0
31683400  |bnwpwpyfuhs < hwtn 800,0 10,0 8,0
31685000 biEhyunpwlyw Gplwpwgdwu wp 9< hwn 1800,0 3,0 5,4
31685000 Eleywpwlwt Epluipwgdwu wp < hwn 1900,0 5,0 9,5
31685000 Eibluinpwywy bpyuwpwgdwi jwp < huwin 2 000,0 4,0 8,0
31685000  [kbywpwlywl Bphwpwgdwl jwn Q< hwn 2600,0 5.0 13,0
31685000 bielunpwlwl EpYwpwgdw jwp 9< hwwn 3 500,0 1,0 3.5
31684400  |qwpnuwy Q< hwtn 700,0 10,0 7,0
31681100 FlEYnpwiwy wwpwqwubp q< hwwn 25 000,0 1,0 25,0
31681900  |EEywpwlwu wynuhy (nnbi) 9L hwin 25 000,0 1,0 25,0
31512360 (nwwpdwlubip q< hwtn 50 000,0 5,0 250,0
31512360  |muwpawlubp q< huwtn 13 000,0 8,0 104,0
31531680 gbipblwht jwiwh deYuwpyhs Q< hwin 1700,0 30,0 51,0
31531210 bihunpwlwy wdw, 60W, 80W, 100W L hwtn 120,0 105,0 12,6
31531210 Eleyunpwlwt jwidw, 60W, 80W, 100W &< hwwn 100,0 15,0 1,5
31531300 inunbunn (wdwbp qc hwwn 1100,0 10,0 11,0
31531100 Fiyunpwlw jwdwbp Q< hwwn 1300,0 20,0 26,0
31531100 Eibyinpulwt juidwbp 14 hwin 1500,0 70,0 105,0
31521560 wpwnwpht inuwdnpdwt jwdwbnp 9L hwwn 1700,0 660,0 1122,0




31531300 [wliwntiunn (unujbip < huwin 1900,0 12,0 2,8
31531300 |wtwntunn jwidujtin < huwin 1600,0 30,0 48,0
31521440 [innuwdwnh pnyutip Q< hwn 1000,0 2,0 2,0
30121320 tnughsttinh gbipdwljwyniiwgnighs uwnpbip Q< hwn 10 000,0 4,0 40,0
30121320 wnwhgubtiph gbipdwluwnitwgnighs uwnptin Q< hwtn 10 000,0 4,0 40,0
31521500 wnwunwnh nwwynpiwt uwppbip q< hwwn 4 000,0 6,0 24,0
31321110 qudp b dhoht jwipdwl Jwyniutibp < dbiwp 550,0 15,0 8,25
31211180 wiwinndwin wugwinhsubp < hwn 3200,0 1,0 3.2
31531300 nuwntunn wdwtp Q< hwun 1100,0 25,0 27,5
31221180 (wdwbinh Ynpwnubip Q< hwtn 650,0 25,0 16,3
31221190 dphwgnighsubip L Ynunwluwwght nwppbip Q< hwn 5500,0 16,0 88,0
2 646,7
Uyjwup, upphstibip, hwlinbpsutip
18811130 Ywnuigntlhg Gunpwidnp Ynohljubip q< qnyg 3 000,0 22,0 66,0
39514500 biptuh upphsutip L hwn 1200,0 30,0 36,0
18311190 fjuwjwpe Q< hwn 5 000,0 14,0 70,0
39221120 uywup q< hwwn 200,0 2,0 0.4
39221120 uujuiup < hwn 400,0 1,0 0,4
1 S e e L S € | hun 1500,0 2,0 3,0
wwnwgwubp
39221140 phjh wd unipéh pudwljutn 9L hwin 900,0 6,0 5,4
39221140 phih Ywd unipéh pwdwlubp q< hwn 600,0 6,0 3,6
39221130 pwdwljubip q< hwn 500,0 6,0 3,0
39221260  |wthubiubip 9< hwin 1000,0 6,0 6,0
39221120 uujuwup 9< hwin 12 000,0 1,0 12,0
18311190 fuwwe 9 hwtn 6 000,0 12,0 72.0
18311190 hwwp 9L hwtn 550,0 150,0 82,5
18811180 hnnwpwthtp L qnuyq 45,0 150,0 6,75
35811170 hwdwqgbuwn 9< Inwlwqd 50 000,0 33,0 1 650,00
39221130 |pwdwlubp Q<L huwin 1000,0 24,0 24,00
39221380  |gnuwyubp G< hwn 400,0 30,0 12,00
39221380  |gnuyubp QL hwn 300,0 30,0 9,00
39221390  [wunnwinwpwnutp Q< hwn 400,0 30,0 12,00
39241120 funhwungwjhty nwwlbip < hwwn 500,0 20,0 10,00
2084,1
Utbipwipbpp
15421100 wpluwdwnyh bR, nwbhuwgyws, (quws) Q< thunp 1000,0 10,0 10,0
03211100  [gnpbu q¢ ™ 200,0 500,0 100,0
03211400  |qunh QL g 155,0 15 000,0 23250
15511200 Ywp uu lhwp 450,0 12,0 5,4
15542100 Ywplwonn nuuwljwu uu g 1800,0 2,0 3,6
15551900 wjunuywnul uu g 1200,0 1,0 1,2
15551600  |Uwéniu uu Yg 900,0 3,0 2,7
15512000  |ppywubip uu lg 1000,0 1.5 1.5
15542240  [shinwp wwupp uu g 4500,0 1,0 4,5
15541300 puwpd wwuhp uu Ug 8 000,0 1,0 8,0
15541100  |wwuhp, jnrh uu g 2700,0 1,0 %7
15541100 wwbpp, (nnh uu Yg 2700,0 1,0 27
15531100 Ywpwg uu g 5500,0 4,0 22,0
15431111 dwpgwnhu uu g 1300,0 0,5 0,65




15511700 ywpeh thngh uu Yg 4000,0 0,5 2,0
15511600 Jhunwgpus Yup uu Ug 1000,0 2,0 2,0
15511800 Jytphp uu (hup 1500,0 2,0 3,0
15551300 |jngnipin uu bg 1600,0 0,5 0,8
03142520 Jan, 02 Yuing uu huwtn 90,0 24,0 2.2
15111120 |unwuiph dhu thwthndy uu g 4000,0 15 6,0
15131100 [apohlintl b udwlwinhuy tuwdpbng uu g 2 800,0 8,0 22,4
15131400 [fungh duhg wwwnpwunyuwd wpnwnpwup uu g 3500,0 30 10,5
15131650 z::;lﬂ:.,:uznpph Uuhg upsapsio e uu g 7500,0 3,0 225
15131650 $::;lzz:$ﬁ2nmah Silng B s oG uu g 11 000,0 3,0 33,0
15131230 |wuwpwntitn uu lg 3500,0 12 4,2
15131650  |“"¥!lnh L hnneh duhg wunnpuiuingus uu g 1400,0 2,0 2,8
wipuwnpwup
t5131650 | “"dunh L hneh duhg wunnpuninwg uu g 1550,0 15 2325
wpwnpwup
15131631 duh wwhwén uu Ug 1050,0 4,0 42
15131400 fungh duhg wwnpwuwnyws wpnwnpuwlp uu g 2900,0 5,0 14,5
t513t650 | “"wdurh s hnneh duhg wunpunnug uu ™ 4000,0 5,0 20,0
wpuwnpwup
15119610 anly hotuwu uu Ug 2500,0 4,0 10,0
15235300  |wwhwdnjugyws smy uu Ug 1550,0 1,5 2,325
15231400 wyfunwd &niy uu Ug 1500,0 2 2,25
2656,9
Lwpnpwinnp wwpwquiibp, uwpplp
30192125 dwpltpubip Q< hwin 700,0 17,0 1,9
38421230 futnwswith Q< hwwn 6 000,0 1,0 6,0
38311400 onwpwpbp QL hwtn 3 000,0 1,0 3,0
33191310 |dhnpéwlnputp Q< hwn 140,0 1200,0 168,0
15991700  [$hpnph pnunp Q< g 4000,0 15,0 60,0
38411200  |obpuwswihbp q< hwwn 40 000,0 3,0 120,0
42991410 fuwnuhgubp QL hwn 150 000,0 1,0 150,0
42991270  [nnquijnpnn uwpptip q< hwwn 8 000,0 3,0 24,0
33191316 wwwlt swihhg dbugnipljw® hnywd Yghlyny q< hwtn 4 000,0 4,0 16,0
33791300  |jwpnpuinnp wujwljjw wpnwnpwup q< hwin 4 000,0 5,0 20,0
38431760  ||wpwpuwwnnp gpwht punlpp 9< hwin 300 000,0 1,0 300,0
33791300 |jwpnpwinnp wwwljw wpinwnpuitp Q< hwn 150,0 20,0 3,0
33141211 pd2ywljwt wy) gnpdhpubn b wwpwqwbp G hwun 2000,0 10,0 20,0
38591200  |phupwlwl jwpnpwinnphwynud Yhpwnynn uwppbip 94 hwin 450 000,0 1,0 450,0
38411200  [obpuwswithtn a< hwin 650 000,0 1,0 650,0
35121290 uhsutip 9L hwwn 15 000,0 1,0 15,0
38421180 dwundbinpbip Q< hwwn 15 000,0 1,0 15,0
38931100 funtwniejwi swihdwu uwppbp 9< hwn 25 000,0 1,0 25,0
38421160 swithdwt b huynnnipjwt uwppbn < hwtn 45 000,0 1,0 45,0
38411600  [ph swihhsutin a< huwtn 35 000,0 1,0 35,0
38431140  [Jbpinidnueqwi uwppwynpnufubp Q< hwn 100 000,0 1,0 100,0
38431140 ybpmdnigywi uwppwynpnidutp L hwn 60 000,0 1,0 60,0
42211210 dwlwpnubintit wwwnpwuwnbin dbpkuwutn Q< hwtn 35 000,0 1,0 35,0
39221100  [funhwunguht uwpptip 9< huwtn 80 000,0 1,0 80,0




42211200 (uttinwdpbinph Uowliwl Ubpbuwliwp q< hwun 250 000,0 1,0 250,0
Guuwpwbwlwu wwwgnygubinh uinwgdwu

33951400 U

husupuiniub 9L hwin 190 000,0 1,0 190,0
38431140 Ybpmidnupjwt uwppwynpnuiutn 9< hwn 750 000,0 1,0 750,0
38431140 Ybpinudnieiwts uwppwynpnudubp Q< huwn 750 000,0 1,0 750,0
38431140 Ybipinidnipjwl uwppwynpnuubp 9< huwin 2300 000,0 1,0 2300,0
38591200  [phdhwlwl [wpnpwnnphwynud Yhpwnynn uwpphbip < huwin 4 000 000,0 1,0 4 000,0
39181100 |jwpnpwinnphugh ubinwtbip ag huwtn 174 000,0 1,0 174,0
39181100 |{wpnpwinnphuwjh ubinwititn Q< hwwn 214 800,0 5,0 1074,0
39181200 lwpnpwinnp Ywhnyp q< [nwluwgqd 174 000,0 2,0 348,0
39181100 wpnpwwnnphwih ubnwtiubn s hwtn 244 500,0 4,0 978,0
39181100 jwpnpwwnnphwih ubnwutp QL hwwn 354 000,0 1,0 354,0
38591200  |phdpwlwu (wpnpwinnphwinud Ghpwnynn uwpptip < hwwn 102 000,0 1,0 102,0
39181100  fjwpnpwinnphuwgh ubinwubip 9< hwn 364 800,0 1,0 364,8
39181200  |jwpnpwinnp Ywhnyp Q< (hwhwgd [ 195 000,0 1,0 195,0
39181100 lwpnpwinnphwih ubnwtttbn Q< hwwn 244 500,0 2,0 489,0
39181100 [wpnpwuinphwih ubmwubp qc hwtn 354 900,0 2,0 709,8
38591200  |phupwlwl lwpnpwinnphuynd Ghpwnynn uwppbn Q< hwtn 102 000,0 2,0 204,0
39181100 [wpnpwwinphwih ubnwuttp Q< hwtn 174 000,0 1,0 174,0
39181100 [wpnpwwnnphwih ubnutbp < hwwn 354 000,0 1,0 354,0
38591200  (phdpwlwu (wpnpwinnphwjnid Yhpwnynn uwpptip Q< hwn 102 000,0 1,0 102,0
39181100  |jwpnpuwnnphwgh ubnwubip < hwtn 255 000,0 1,0 255,0
39181200  [jwpnpwinnp Guhnyp < hwwn 742 800,0 1,0 742,8
39181100 {wpnpwwnnphwih ubmwtitbp < hwtn 364 500,0 2,0 729,0
39181200  |jwpnpwwnnp Ywhnyp Q< Inwlwqd | 195 000,0 2,0 390,0
39181100 |wpnpwiinnphuygh ubinuitiubp QL huwtn 96 000,0 2,0 192,0
39181100 [wpnpwnnphwih ubnwuubp Q< hwn 144 750,0 4,0 579,0
39181100 \wpnpuiinnphwih ubinwutitp Q< hwin 214 500,0 2,0 429,0
39181200  |jwpnpwinnp Ywhnyp 9< lnwlywqu | 174 000,0 2,0 348,0
39181100 [wpnpwinnphwih ubnwuubp ac huitn 90 000,0 1,0 90,0
39181100 |wpnpuwnnphwih ubnwitibp 14 hwn 90 000,0 1,0 90,0
39111140 wennubip QL hwn 21 600,0 10,0 216,0
38651230  |(unpnpwignighgtibin < hwtn 2000,0 1,0 2,0
31512320 niyunpwdwuniwlwgnyu jwdwbp < hwn 25 000,0 3.0 75,0
31711440 FlEhunpntwihu hunbgpuw) ufubdwitip Q< hwn 90 000,0 1,0 90,0
38421220 nidh quwhwindwt uwppwynpnidubp q< hwn 80 000,0 2,0 160,0
38421220 ndh quwhwindwt uwppwynpnuiubp q< hwn 105 000,0 1,0 105,0
42121100 hhnpwihly Yud onwstghs (wuliwwnhl) guitbp 9L hwiun 35 000,0 2,0 70,0
44163180 wnnwwunb funnnyuly Q< ITe} 51,9 168,0 86,0
44521160  |onewubp Q< dbnp 4200,0 75 315
44521160  |onpwubp < Ubwnp 4000,0 75 30,0
42141200 Uwpnwitwh |hubinubp Qg hwtn 50 000,0 1,0 50,0
42141190 lhubnubnh Ygnpnhsubip q< hwn 55 000,0 1,0 55,0
33951400  [MuusputlY unyuignygiih unugul a¢ | hun | 5550000 1.0 555,0

hwywpwdniubp
33191310 thnp&wunpubp Q< hwn 6 000,0 6,0 36,0




33191310 [thnpawtinplbp < hun 27 500,0 2,0 55,0
33191310 thnpéwtinputp Q< huwn 27 500,0 2,0 55,0
33191310 thnp&wlinpubip q< hwn 27 500,0 2,0 55,0
33691420 Lﬁ?;;”ufgﬂixﬂfjm’w (Aitiatmbin] 9¢ | pulwgs | 380 000,0 1,0 380,0
33691420 L“L’i’d":’u:;['qﬁt‘:“’”‘pb" (nbwqBtuntiby) 9¢ | nwlwad | 360 000,0 1,0 360,0
42921180  [yptmpubip a< huwin 220 000,0 1,0 220,0
38411400  [unbwwswihtip a< huwn 490 000,0 1,0 490,0
38431140 |ytipmidnuejwl uwppwynpnwdubip Q< hwn 1050 000,0 1.0 1050,0
19642200  |H"ihkehibluhl punulp uwinpwynpuutny ac lid 2400,0 20,0 48,0
Swdlbiynt hwdwp
33691160 | phupwlwl wanwiyniekp (nbiwgbuwnutip) 9L huwtn 153 000,0 1,0 153,0
33191310 thnpédwunpubp 9< hwwn 50 000,0 3,0 150,0
33191310 thnpdwunpubn QL hwn 50 000,0 3,0 150,0
42911160 foph dwppdwt uwppwinpnudubp qg huwtn 120 000,0 1,0 120,0
42941110 Junwpwitbp b nputg wwpwqwbn Q< hwn 198 000,0 1,0 198,0
42941160 pulndwt Yuyniuwsbindng (pbpdnuwuwmn) < hwn 498 000,0 1,0 498,0
38431430  |pwihwhwphsubn L npwlig wwpwawikbpp Q< huwin 121 000,0 1,0 121,0
33191312 Jwwwyb Ynjpw q< huwitn 1200,0 50,0 60,0
33191312 wwwlb Ynjpw q< hwwn 1200,0 15,0 18,0
33191314 wwwll pwdwhg wquwp /hnyws Yghyny 14 hwn 1000,0 40,0 40,0
33191314 wuwyb pwdwbihy dwquwp /hnlywsd Yghlnyg 9 hwwn 800,0 30,0 24,0
33191312 wwywlb Ynjpw qc hwn 1000,0 20,0 20,0
33191312 wuwlb Ynpw qL hwun 200,0 10,0 2,0
33191312 wwwilt Ynipw Q< hwn 800,0 20,0 16,0
33791300 |jwpnpwunnp wuwwlyw wpinwnpwlp QL hwn 1400,0 20,0 28,0
33791300 [jwpnpuwnnp wwwlyw wpnwnpwip Q< hwn 1600,0 20,0 32,0
33791300 [wpnpwnnp wywljw wpnwnpwp 9< hwuwn 200,0 10,0 2,0
33191310 thnpawlnpbip < hwitn 1000,0 10,0 10,0
15991700  |$ppnph pnine q< ug 4 400,0 30,0 132,0
33191317 [hwuwwwll pwuhl q¢ huwtn 1200,0 10,0 12,0
33791300 fjwpnpwuinnp wwwlyw wpinwnpuiip e hwn 800,0 20,0 16,0
33791300  [jwpnpwnnp wuywlyw wnunwnpwup 9L hwin 1000,0 20,0 20,0
33791300  [jwpnpuinnp wwwlyjw wpwnwnpuwiup < hwun 2000,0 5,0 10,0
39221270 pPwu wwundwuuw)b qc hwin 450,0 50,0 225
33951400  |UBUUWRWLLLUY wuuignyglibnh unwguul 9¢ huwn | 400 000,0 1,0 400,0
hwywpwéniutip
33951400 ﬁ:‘“q'iu”g’u‘:";:]"l‘;‘“b{‘:n ituignygUlinh uinwguil ac huin | 355 000,0 1,0 355,0
336o140p  [RAUMWLWL wanuLnipbn (nbugbtunbibn) 9¢ | pulugd | 149 000,0 1,0 149,0
puquwlndwntibun
27152,3
Lhuhuwlyut byniptp, Ylnwptp
33691400  |PUhwbwl wanulymiptin (nbuwigbtintian) %<  |Lpwluwqd| 15 000,0 1,0 15,0
pwquwyndwnubiun
33691400  [RhUhwhuill wanuityniplin (ntughtiunlin) 9 | pubwqs|  20000,0 1,0 20,0
puquwyndunublinn
33691400  |RPURwlt wanuyniptin (nbwqbuinttn) 9¢ | pubwqd | 220 000,0 1,0 220,0

pwquwyniwnubiun




phdhwlwu wqnuynuelip (nbiwgktinutn)

33691400
puiqiwlnduntitn QL Inwlwqu 20 000,0 1,0 20,0
phuhwlw waqnunuptin (nbwqbtnubp)
33691400
el 9 | pwywad [ 20 000,0 1,0 20,0
phuhwlwt wnwiynyskp (nBwgbwnutn)
33691400
PuiqUlndunLtbUn q< [(Pwlwqd 20 000,0 1,0 20,0
phihwlwl wanwiynyebin (nbwqbtunuti)
33691400
pwquulndunlbtn <L [nwlwqu 20 000,0 1,0 20,0
phihwlwy wanwiynyebn (nbwqbtintutin)
33691400
PuiqUwnduyntibtin 9< Inwlwqu 20 000,0 1,0 20,0
phdhwlwl wanwynietn (nbBwqbwnttp)
3 40
3691400 K A< | jpuwlwqr | 200000 1,0 20,0
24321660  |quuwquu onquitiwlwt phuhwlwl Ynishp q< gnwd 260,0 100,0 26,0
33621766 wnwippnL Q< lig 2000,0 1,0 2,0
24311260 uwwphnuih hhnpopuhn < ug 2000,0 1,0 2,0
33691163 wawn, Funnwgun q< hwin 30 000,0 3,0 90,0
24321610 uwhuwpnqu QL Ua 8 000,0 3,0 240
33691163 waqwn, Eunnwgun q< hwtn 22 500,0 1,0 22,5
33691163 |waquip, Funnwquip Q< hwn 22 500,0 3,0 67,5
33691163  |wquip, Funnwqup < hwn 22500,0 3,0 67,5
33691163 waquwp, unnwqup < hwun 22 500,0 3,0 67,5
33691166 wwinpwuwh dhypnphninghwljwl Uhguwijuwyp Q< hwtn 50 000,0 4,0 200,0
32351310 uuunh thwepbpwynpiwy [punwpubp < hwn 25 000,0 1,0 25,0
24311260 uwwphnwdh hhripnopupn 9L g 1820,0 4,0 7.3
24311271 Ywightuwgyws unnw < g 560,0 2,0 14,
14781100 Yuighnud Qg g 2500,0 7,0 17,5
24311114 Sédpwlwl ppn g4< lg 1330,0 13,0 17.3
14411400 wnuwjht jndnyp 1 thinp 100,0 6,0 0,6
24321860 wqnunwljwl pent q< Yg 1200,0 3,0 3,6
33691411 phuhwlhwl wanwunyetin (nbwgbuwnubp) thnoh Yud ac - 700,0 9,0 6.3
gpwiinyubip
33691862 | $biuhy hhnpwght q< bg 1730,0 3,0 5,2
24321440 |pwguwiuwpeent 9< Ug 2000,0 10,0 20,0
24311127 twwnphnidh Juppnuwn < lg 1250,0 1,0 1,3
44921200 |yhp, thnoh 9< Ug 250,0 200,0 50,0
03321800  |Gwqupubp uu hwin 1000,0 150,0 150,0
33691163 wgwn, funnwqun 9qL hwin 22 500,0 3,0 67,5
33691163  |wquwp, Funnwqup < hwn 22500,0 3,0 67,5
1384,1
Pdaljwljub wupwqubbp, nhgnpugp,
wiwubwpmdwlwy nbinkp
3atatnar | Mbhls huduluingh, wiywt sapgutadngubeh [ T 200,0 20,0 4,0
ybpgdwl uwpptip
33141300 dbintingubip pdolwt ng uwnbiphy Q< hwin 150,0 100,0 15,0
33141156 |pdoljwlwt dbnungubip 9< hwtn 30,0 1100,0 33,0
18311190 fuwjwe 9z hwwn 450,0 20,0 9,0
33141129 nhuwly 9< hwn 50,0 200,0 10,0
18441100 |qifuwplyubip Qg hwin 30,0 20,0 0,6
18811180 hnnwpwhbp Q< qnygq 30,0 100,0 3,0
33141111 Jusnit uwbinwuhubip Q< hwin 5,0 50,0 0,3
33141112 uyjbinwbhtbn (wwuwnhp) 9c huwtn 400,0 5,0 2,0




33141110 Juhpuilwwytip 9< huin 300,0 10,0 3,0
33141142 Ubipuiplihsubip Q< hwin 50,0 50,0 2,5
33141142 ubipwiplhsubp Q< hwin 40,0 50,0 2,0
33141144 pd2lwlwt wubnubp < hwtn 30,0 200,0 6,0
43411100 inbuwlhwynpnn b dwnbint uwppbip Q< hwwn 4 800,0 4,0 19,2
24321400 |kehy wiynhny q< thup 1800,0 22,0 39,6
2432131 hgnupnwhy uwhpun 9< lhnp 1500,0 3,0 4,5
33141115 pd2lwlw pwdpwly q< hwin 200,0 15,0 3.0
03111250 pwipuwl A< lg 2 300,0 2,0 4,6
33141114 pdwlwl puligh$ (Jwpyw) jwitnuyeiniup® 90ud Q< Ubwinp 150,0 70,0 10,5
niynquidht (quniynquidhh uny$win),
33691208 ::br:'n%mh’;h‘g:q;‘wfn’ hl;nt}wnnihv —)MO - 9< hwitn 700,0 25,0 17,5
33611420 Yuighnuih gyniynuuwin al2aa03, d11ax03 < hwwn 600,0 100,0 60,0
33671135  [Ywighnuwh pinphn  BO5XA07 q< huwtn 500,0 10,0 5,0
33611350  Jwulnpphuwpeent g01ad03, s01xal5, allga0 < hwwn 70,0 200,0 14,0
Pnpwppnt, Ywwwph wgbinwn, bwwnphnuwh
inbinpwpnpwin, ; n,
33631440 o;uhr}, LibrllmnLruTlTr:l:r[,ur:zgle;:}’;';[l;tlghmh 9< huitn 400,0 20,0 8,0
wbinpwdht, $npdwinkhhnh (ndnye DOSAX
33691176 w)| nbnnpup Q< hwwn 700,0 30,0 21,0
33691176 wy| nbnnpwyp A< hwn 9500,0 3,0 28,5
33141213 pd2ywlw Juqgbht < Ug 1200,0 10,0 12,0
33691176 wj| nbnnpuyp < hwn 7500,0 1.0 7.5
33691176 wj| nbnnpuyp Q< hwin 6 000,0 6,0 36,0
33691176 wy| nEnnpuwp q< hwn 400,0 1,0 0,4
33631150  |ghtlyh opupn DO2AB 9< huwin 500,0 20,0 10,0
33691176 |wy) nbinnpw)p QC hwwn 3000,0 30,0 90,0
33691121 w|pbunwaqnp02ca03 Q<L hwwn 7400,0 3,0 22,2
24451141 wfuwinwhwtpg hinnly bynyebip S Lhunp 6500,0 3.0 19,5
33691176 wy| nbinnpuyp Qg hwtn 80,0 200,0 16,0
03341100 wwywph whwugubiph whunwlubnp Q< hunn 500,0 100,0 50,0
44511250 ubindhy wpguwutibp QL hwwn 17 000,0 1,0 17,0
44511250 utindhy wpguwtbp Q< hwn 29 000,0 1,0 29,0
33691176 wy| nbnnpw)p q< hwin 7 500,0 2,0 15,0
33691176 |y nbinnpuwyp QL hwn 2800,0 20,0 56,0
33691176 |wy nnnpuwyp 9< hwn 3000,0 50,0 150,0
33691176 w)| ntinnpwyp qg hwn 4 000,0 50,0 200,0
33691176 wy| nEnnpwgp Qg huwtn 600,0 300,0 180,0
33691176 |wy| nbinnpuwyp < hwtn 2800,0 30,0 84,0
g (|- Or AR e sl hehi < | hun 23000 30,0 69.0
wgbinwiwn/
33691176  |wy nbnnpw)p Q< huwn 700,0 100,0 70,0
33621680  |wpnwpwunin| c07aa05 9< hwwn 1900,0 10,0 19,0
15911100 uwhptn QL (hwp 1600,0 3.0 4,8
33141115 pdoljwlwt pwdpwly < hwwn 200,0 10,0 2,0
33691849  |wgbunnt/ nhdbphy YEwnnu QL |hinp 1200,0 2,0 2,4
33621643 |hwywubluhs (wuwhubiwwhly) hennyutp 9< thunp 930,0 300,0 279,0
33141129 nhuwly Q< hwtn 20,0 4200,0 84,0
24451141 wuwnwhwuhs htnniy Wniebp < lhwp 145,0 90,0 13,05
39831245  [oBwn, htinny Q< lhwip 156,0 150,0 23,4




33691176 wy) nbnnpuwyp Q< hwn 13 000,0 6.0 78,0
1965,0
faniuwphdhijunntbp, wwpwpnwigniebp b
ubgnpdwluts tympbp
24451111 Uhguitnwuwuwls htnnty Yyniptip Q< lhup 15500,0 10,0 155,0
24451120 Unjwiuntnbiph nbd wwjpwpnn wnuyetp Q< lhwp 7000,0 40,0 280,0
24441100 quilwquil wwipwpuwnyebp Q< lg 240,0 750,0 180,0
24441100 quitiwgquill wwinwpuwynyetn 4< 1T 240,0 1500,0 360,0
24451110 dhgwinwuww unyabp Q< (1T 10 000,0 20,0 200,0
24451111 dhgwinwuww hinnmy Uynuetip Q< lhinp 22 000,0 20,0 440,0
2445111 Uhguinwiuwjw hbnniy ujniebin Q< thunp 10 000,0 7.0 70,0
24451200 utlybiph nbd wuypwnh Ynyekp Q< Yag 1800,0 120,0 216,0
24451200 uliytiph nbd wunpwpp ynyebp < lg 4 000,0 50,0 200,0
24451200  fuulytiph nbd wwpwph Uniplin G< g 2600,0 120,0 312,0
24451190 [ypdnnubiph ntd wuwipwph Yynyelip G< g 11 000,0 10,0 110,0
24441100 quliqul wwpwpnwnyebn Qc Ug 140,0 10 000,0 1400,0
24441100 qulwqul wwpwpnwiynyebp Qg lg 200,0 15 000,0 3 000,0
24441100 quliwqul wwpwpiwiynizbn < lg 200,0 5100,0 1020,0
24451111 dhgwinwuwwu htnniy unyetip 9< {hunp 11 000,0 10,0 110,0
24451111 dhgwinwuww htnnily unietip q< thunp 13 000,0 10,0 130,0
24451200 uulbph nbd wwjpwph Yynysbip < g 13 000,0 10,0 130,0
2445111 dhgwinwuwwt hbnnily Yynietn Q<L (hwp 24 000,0 5,0 120,0
24451200 utihbph nbid wwjpwph Ynyebip q< lg 13 000,0 10,0 130,0
33691147 pniiwynptp L 'e lhup 20 000,0 5,0 100,0
33691117 wpwnbdbrbp + nuibbwunphtu p01bfol qc hwin 5500,0 40,0 220,0
24451200 utlybph nbd wwipwph YNk Q< ITe] 5000,0 20,0 100,0
24451120 dnjwunwntinh nbd wwypwpnn unebn Q< thunp 2500,0 64,0 160,0
24441100  |quiiwqul wwpwpnwiyniyetp < g 125,0 800,0 100,0
24451200 |uubbiph ntd wwipwph Uynystip q< Yag 2500,0 100,0 250,0
3369147  |eniuwlnyabin QL Lhwp 24 000,0 18,0 432,0
24451200 ubiybiph nbd wwypwph Ynyetip < g 73 000,0 10,0 730,0
24451200 utlyph nbd wwpwph Ynebp q< Lg 73 000,0 2,0 146,0
33691147 pnlwynypkn q< lhtnp 18 000,0 35,0 630,0
24451200  [utlytiph nty wwipwnh Wnetn Q< Ug 13 000,0 30,0 390,0
24451200 ubilybph nbd wwypwnh wniptkn Qs g 7 000,0 50,0 350,0
24451200  |utiybiph nbd wwypwph ynphp Q<L bg 11 000,0 60,0 660,0
33691147 pniuwnyetip < thiaip 59 000,0 8,0 472,0
33691147  |pnitwtjnipbp 9L {hwp 14 000,0 8,0 12,0
33691147  |pniuwbjnyplip G< (hwnp 75 000,0 1,0 75,0
2445111 Uhgwinwuwwl hbnnly uynyebp q< thuip 21 000,0 13,0 273,0
24451 Uhowinwuww hbnnily uynyetip QL lhtnp 15 000,0 10,0 150,0
24451110 Uhguwitnwuwjwu uynipbnp < Ug 102 000,0 5,0 510,0
24451110 Uhguwitnwiuwwu ujnietip q< lg 99 000,0 5,0 495,0
24451111 dhowunwuww htinnuy wynuebp q< thwp 22 000,0 15,0 330,0
2445111 dhowunwuwwl hbnnly bynysbp Q< thunp 10 000,0 4,0 40,0
2445111 |Uhowinwuwwy hbnnily nystip a< (hnp 23 000,0 2,0 46,0
24451111 Uhowwnwuwwt htinndy Wniptip 9 thinp 24 000,0 4,0 96,0
24451120 Unjwfuninbiph nbid wuwypwnpnn unyetip qc thunp 7 680,0 100,0 768,0
24451120 dnjwfunwnbiph nbd wwypwpnn Ynpkn Q< lhinp 13 000,0 20,0 260,0
15931910 |ghubignpdwlywl pwlwbphwlbp < inuth 65 000,0 4,0 260,0




15931916 ghubignpéuljuiu Yuyniuwging Yynuehp q< g 15 000,0 2,0 30,0
24311290  [ssnup ac g 1000,0 3,0 3,0
24111160 wgnwn QL u3 2500,0 24,0 60,0
15931911 ghubignpéwljwu puwlnbphwutph ubtnwnietip Q< wnith 30 000,0 4,0 120,0
39224440 |5t 9< huin 30,0 400,0 12,0
39224440 9ot 9< hwn 10,0 400,0 4,0
39224440 |ptip Q< hwin 200,0 3 060,0 612,0
39141370 ghunt dwnwih wwpwqubbp < hwn 1500,0 200,0 300,0
3922447 ghunt 22wgdwiu Wwpwaqwutip 9« hwin 17 800,0 1,0 17,8
39224471 ghunt ywigdwt wwpwquibp 9< hwin 20 200,0 1,0 20,2
39224471 ghunt 22wigdw wuwnuwguwbp < hwn 20 200,0 1,0 20,2
24311129 quilwqwl wiopqulwljuwl phubwlwt Ynuysbp L L4 apud 30,0 1000,0 30,0
24321840 |wunbpnuip nnnwuhwn a< Lg 1500,0 50,0 75,0
24321840 wdnupnuwh rnpwipn Q< lg 1500,0 30,0 45,0
24311600  |pnpwppnt Q<L Ug 800,0 2,0 1,6
24321650  |qihgtipht 9< g 1500,0 4,0 6,0
14781100 [yuhned 9c g 2.000,0 30,0 60,0
33611430 |ywihnuih jnnpn r05ca02, s01xa04, v03ab21 q< lg 40 000,0 3,0 120,0
33611430 Ywihnuwh jnnhn r05¢a02, sO1xa04, v03ab21 Q< 176} 35 000,0 1,5 52,5
14781100 Guighnud Q< g 2400,0 20,0 48,0
33691134 |Ywyhnuwih pinppn a12ba01, b05xa01 q< g 800,0 20,0 16,0
33621766 wnwppht Q< g 6 000,0 2,0 12,0
14771400 Yuyghnud Q< Lg 3 000,0 20,0 60,0
33691129  |Uwwnhnudh pinphn, Ywihnush pinphn, Yuighnedh q¢ i 800,0 5.0 4.0
pinppn, (nhtgtiph (nidnyre)
14781200 dwqubghnud < Ug 2500,0 10,0 25,0
24311129 quitiwquit whopquiwlwl phuhwlwy Ynustin QC ghwd 4,5 3000,0 13,5
24311114 Shipwljwt prn < ITe} 1000,0 5,0 5,0
24321660  |quuwqul onGuitwlwu phuhwlwy Wyniphp G< gpw 3,0 50 000,0 150,0
24321660  |quiwquit opquitwlwis phdhwlwt Wnystin QL anwd 15,0 10 000,0 150,0
24321660 | quiliwquiti opquitiwlwit phihwlw Yynuatip 9c qpwd 1,5 4000,0 6.0
24321660  |qulwquil onquiiwlwy phuhuwljwt Yyniysbip 9 gpwd 8,0 5000,0 40,0
24311129 quitwqul wiepquitiwlwt phdhwlw Unuebin < qpud 30,0 1000,0 30,0
24321840 winuhnuwh nnnwpun s ug 1500,0 50,0 75,0
24321840 |wunupnuh nnnuwtihin q< g 1500,0 30,0 45,0
24311129 |quiiwqui whopgwwlul phihwluw Yyniptip < gqpwyd 30,0 1000,0 30,0
24311129 quiwqu wionquwiiwlwt phihwlwl Wniplip 9L qpwd 1,0 3 000,0 3,0
24311129 quiwqui wiopquitwlwt phihwlwy ujnipbip < gpuwd 6,0 3000,0 18,0
33611430 Ywihnwh jnnpn r05ca02, s01xa04, v03ab21 9< Ug 40 000,0 1,0 40,0
14781100 Yupnud Q< g 2400,0 2,0 4,8
33621766  |wnwppnt B ITe} 800,0 3,0 2.4
pinphn (nhtigbinh jnényp)

14781200 dwqubighnud 4< g 4500,0 5,0 225
2431129 |quitiwquiti wiopquliwliuls phuhwluit Unytin ¢ g 4,5 5000,0 225




24311260 Uwwnphnuwh hhnpopupn Q< ITe1 1000,0 40,0 40,0
24311114 S6upwlwl prnt Q¢ g 1000,0 20,0 20,0
24321660  |quiiwqui opquitiwlws phuhwljwl Uyniptip Q< qpwd 3,0 5000,0 15,0
24321440 |pwguiuwppent < g 1200,0 10,0 12,0
24321660  |quuwquil opquiiwljwl phdhwluts Uynipbip QL gpwd 8,0 3 000,0 24,0
24311420 tplwreh uny$win < g 2000,0 5,0 10,0
24311200 bnudnpulw pent ac Lg 1500,0 10,0 15,0
24311480 Yuihnuh whpdwiquitiuen Q< g 4500,0 1,0 4,5
24321840 [wunupnudh nnnuithn qc g 800,0 15,0 12,0
33691855  |wpdwpeh Upinpwn 9< g 600 000,0 0,2 120,0
24321660  |quitwqul opquitiwluwt phdhwlwts tynipbip Q< gpuid 850,0 250,0 212,5
33691142 |UERhIBhNURLA pinphn, (Wbt Yuiynyin)v03abi7, 9c g 100 000,0 0.2 20,0
v04cg05
33691851 Uwunphnud - Guihnud ghubipeywljw Qg lag 3 000,0 2,0 6,0
33621766 Wwnuwieent Q< [ITe] 1200,0 2,0 2,4
24321840 wunuhnuih nnnwhn q< lg 3 000,0 5,0 15,0
24311410 wynuihtuh unybwin < Ug 1200,0 5,0 6,0
24321660  |quiiwquit opquiiwljuil phdhwluwt uynuptip 8< qpud 400,0 100,0 40,0
14711410 ghul dnwnwlwu gputnywgywd S Yg 6 000,0 0,5 3,0
24311129 qulwqu wlopquitiwywy phupwlw Unipbip Q< gpwyd 3,0 500,0 1.5
24321440  |pwgwiuwppent 9 Ug 1200,0 1,0 1.2
24321660 quilwqwt opquitwlw phihwljwy Uniebp Q< gpwd 600,0 70,0 42,0
24441100 quiiwquill wwnwpiwniebn Q< ug 1600,0 50,0 80,0
24441100 [quuwqul wwpwpuwbynyetp 9 Yg 1600,0 50,0 80,0
24441100 qUtWqLL wwpwpwljnyabp < Yg 1000,0 50,0 50,0
24441100 quwqull Wwpwpunwiynystn Q< Lg 1000,0 50,0 50,0
24441100 |quiiwqui wwpwpuwljnyebp Q< yg 1000,0 50,0 50,0
44421700  |wpynbp uu hun 450,0 530,0 238,5
44421700 wplynbp uu hwtn 570,0 712,0 405,8
39561140 nbiynpwinhy quipnwuwlusbp uu hwtn 9 600,0 1,0 9,6
39561140 |nblnpwinhy quipnuwliwfuskip uu hwtn 9 600,0 4,0 38,4
20769,4
pwubtywluht Yuhnyp, gnyp
39111180 wpenn’ gpuubiywlwihu 9< hwin 21000,0 5,0 105,0
39111180 wenn' gpuublywluwht Q< huin 10 000,0 20,0 200,0
39111220 pwqljwrenn’ nbywywph 9L hwtn 90 000,0 1,0 90,0
39121520 gpuwwwhwpwibp Q< hwn 59 000,0 1,0 39,0
39121520 gpuwwhwpuwitibp i hwun 73 000,0 1,0 73,0
39111180 wenn' gnuiubtjwljwhu Q< hwin 6 450,0 2,0 12,9
39111180 wpnn' gpuwubtywlught Q< hwun 50 000,0 1,0 50,0
39111180 wpnn' gnuubtywlwht Q< hwtn 21 000,0 1,0 21,0
39111180 wpenn' gpwubujwlwihu Q< hwn 80 000,0 1,0 80,0
39121100  |gpwubnuiuubp < huwn 36 000,0 2,0 792,0
39121440  Jubnut' bwfuwguhnipjwl G< hwtn 300 000,0 1,0 300,0
39141260  |qgbunwwywhwpwitibp g< hwtn 110 000,0 2,0 220,0
39121520 gpwwwhwpwutbp Q< hwn 260 000,0 1,0 260,0
39111180 wpenn’ gnwubtywlwht 9L hwitn 42 000,0 28,0 1176,0
39111170 wppnn’ thwthny Q< hwn 40 000,0 2,0 80,0
39111230 |thnpp pwqungubp 9 hun 200 000,0 1,0 200,0
44421300  |shplhqunn wwhwpwttbp < hwin 105 000,0 1,0 105,0




39121200 ubinwuubp Q< hwtn 80 000,0 1,0 80,0
39111140 [wpnnutip Q< huwin 33 000,0 4,0 132,0
39121500 |junhuwitingwshts uwhuwinwlbn Q< huwn 195 000,0 1,0 195,0
39111220 |pwiqyuienn’ nblyusjuiph 9¢ hwin 80 000,0 1,0 80,0
4310,9
Smnbip, pujninbp
09211100 Jawindhsh jnunp 9< thunp 3000,0 2,0 6,0
09211100 Jauindhsh jnuntn 9< hwnp 3000,0 2,0 6,0
09211650 wpgbjwlh henny QC lhtnp 1100,0 8,0 8,8
09211600 hhnpwyihly hwdwlwpgbpnud b wyj| bwywwnwlubpny Q¢ iuip 2500,0 20 50
oguwignpdynn jnintip
09211400 tinfuwbigdwt wnuph jninkip Q< thunp 2400,0 10,0 24,0
09211150 |hinn-24 < lg 1800,0 60,0 108,0
09211820  [uwypwihts jnintin Qg thunp 1100,0 50,0 55,0
09134100 nhqbwjht jnwntn Q< lhwnp 1200,0 310,0 372,0
09211100 |awpdhsh jnuntip Q< [htnp 1500,0 40,0 60,0
09211100 |awndhsh jnuntip QL thwp 4000,0 52,0 208,0
24951311 hwlwuwnbignighs tyniebn 9< lhtnp 700,0 70,0 49,0
09211620 wblutininghwlwu jnintp Q< thinp 10 000,0 0,2 2,000
903,8
“wnbjhp
09411710 ubnuywé puwlwu qug 9¢ Ug 350,0 15 600,0 5460,0
09134200 nhabiwihts Jwnbihp, wiwnwht q< |hup 370,0 16 000,0 5920,0
09132200  |pkght, nbignijun < thwp 400,0 16 000,0 6 400,0
09132100  |pbught, wpbuhnw a< lhtnp 420,0 8 000,0 3360,0
09132200  |pbught, nignyyup Q< thtnp 480,0 2500,0 1200,0
22 340,0
Udwmnywhbunwdwubp b qynin.inkfutthjugh
dwubp
44611200  |qugh puntutip q< hwin 50 000,0 1,0 50,0
42131250 |ququijhti pwintiibph thwlwiubp < huin 10 000,0 1,0 10,0
44161110 quiqujht funnnywlwowntp < dtnp 1000,0 9,0 9,0
40131250 ququwiht pwntiibiph thwlwtiubp QL hwtn 25 000,0 2,0 50,0
35121290 wnyhsubip qc hwn 2000,0 5,0 10,0
44322200 Uwiniu, fiEGunpwlwt jwp QL dbwnp 2000,0 55 11,0
31211100 Eibyurpwlwt vwppwynpnudubph Jwhwuwlbp Q< hwun 25 000,0 2,0 50,0
34331300 |wywndbipbuwbbtiph wwhbunwdwutip < hwwn 5 000,0 3.0 15,0
16811100 gninuintinbuwlw uwppwynpnwdubinh dwubip Q< hwtn 1350,0 30,0 40,5
16811100 gninwinunbuwlwy uwppwdnpnuiubiph dwubp < hwin 250,0 60,0 15,0
16811100 qninuwntinbuwlwl uwppwynpnuubiph dwubp 9L hwin 1350,0 50,0 67,5
44531190 | AMYWIRE il winnuuint wwipnipwluadnn a< g 1200,0 3,0 3,6
wwpwupubip
44531180  [dwbl 4 g 1300,0 1,0 1,3
16811100 |qyninuintnbiuwlut uwppwynpnudubiph dwutp < hwn 400,0 100,0 40,0
34331300  |wywnndbipbuwtbinh wwhbunwdwubnp G hwn 9 000,0 1,0 9,0
34331300 wifinndipbuwubiph wwhbunwdwubp Q< hwtn 25000,0 1,0 25,0
34331300  |wywnubipbUwutiph wwhbuwnwdwutp G< hwtn 5000,0 4,0 20,0




34331300  |wywndtipbuwutiph wwhbuwnwdwubip Q< hwtn 4200,0 6.0 25,2
34331300  |wywnubpbuwutiph wwhbunwdwubp < hwin 1000,0 8,0 8,0
34331300 wywnndbipbbwlbinh wwhbunwdwutip Qc hwtn 1100,0 4,0 4.4
34331300  |wiinnubipbuwutiph wwhbuwnwdwubp Q< hwwn 2200,0 4,0 8,8
34331300  |wiuwndbipbuwtbph Wwhbunwdwubp Q< hwtn 3500,0 2,0 7,0
34331300  |wywnindtptuwubiph wwhbunwdwutp 14 hwwn 3500,0 4,0 14,0
34331300  |wyunubipbuwubiph wwhbunwdwubip q< hwwn 3700,0 1,0 3.7
34331300 fwwndbipbiuwttinh wwhbunwiwubn < huwtn 4000,0 1,0 4,0
34331300  |wyunnuibpbuwutph wwhbunwdwubp q< hwwn 5 000,0 1,0 5,0
34331300  |winndbpbuwubph wwhbunwdwubp < hwn 20 000,0 1,0 20,0
34331300 wywnibipbuwubph wwhbunwdwubp Q< hunn 5000,0 1.0 5,0
34331300 |wywnndtipbuwubiph wwhbunwdwutp Q< hwn 13 000,0 1,0 13,0
34331300 Jwywndbptuwtbinh wwhbunwlwutp q< hwwn 20 000,0 1,0 20,0
34331300  Jwyundbipbuwtibiph wwhbunwdwubnp q< hwn 15 000,0 2,0 30,0
34331300  |unjundbipbuwlbinh wwhbunwdwubp q< hwwn 8 000,0 2,0 16,0
34331300  |wywndbpbuwubph wwhbunwdwubip Q< hwn 32 500,0 2,0 65,0
34331300  Jwywndbpbuwbbiph wwhbuwnwiwubp Q< hwn 8 500,0 1,0 8,5
34331300  |wywnndtipbuwutiph wwhbuwnwiwubn < hwn 10 000,0 1,0 10,0
34331300  Jwyunibtipbwtbiph wwhbunwdwutn Q< hwtn 6 000,0 1,0 6,0
34331300  [wywndbpbuwubiph wwhbunwdwubp q< hwtn 4500,0 2,0 9,0
34331300 wywnndbpbuwlbtiph wwhbuunwdwubp q< hwin 6 000,0 1,0 6,0
34331300 wywinndbpbuwubph wwhbuwnwdwubn Q< hwin 4 000,0 1,0 4,0
34331300 wywndbipbuwubiph wwhbuwnwdwubn 9< hwtn 5000,0 2,0 10,0
34331300 Jwinndbpbuwubnh wwhbunwidwubp 9L hwin 1500,0 2.0 3,0
34331300  |wyunndtiphuwutiph wwhbuwnwiwubn B4 hwn 1500,0 2,0 3,0
34331300  |wywnubpbuwibinh wwhbunwdwubp < hwn 3000,0 2,0 6,0
34331300 |wywnubtipbuwubinh wwhGunwdwukn 9 hwn 3 500,0 2,0 7,0
34331300 wywnndbipbtiwubiph wwhbunwdwubp ge hwwn 4000,0 1,0 4,0
34331300 wwndbiptuwutiph wwhbunwdwubp Q< hwun 16 000,0 1,0 16,0
34331300 |wywndbptuwutiph wwhbunwdwubp GC hun 35 000,0 1,0 35,0
34331300  |wywndliptitwubinh wwhbunwdwutp < hwwn 5500,0 1,0 5.5
34331300 wywndbptuwutinh wwhbunwdwubn QL huwtn 1500,0 1,0 1:5
34331300  Jwywndbipbuwtbph wwhbunwdwutip < hwwn 2000,0 1,0 2,0
34331300 wywnndbipbuwubinh wwhbunwdwubp 9 huwwn 15 000,0 2,0 30,0
34331300 wywndtipbuwtph wwhbunwdwubp 9L hwwn 10 000,0 2,0 20,0
34331300  |wywndbpbuwubiph wwhbunwdwutp qc hwn 7 000,0 2,0 14,0
34331300  (wywndbipbuwutiph wwhbuwnwdwutn QL hwn 7 000,0 2,0 14,0
34331300  jwywndbpbbwubph wwhbunwdwubp < hwwn 11 000,0 2,0 22,0
34331300  |wywindbpbiuwutinh wwhbunwdwubp < hwwn 6 000,0 2,0 12,0
34331300  |wywndbpbuwubph wwhbunwdwubp 9L huwin 8 000,0 2,0 16,0
34331300  |wywnndbpbuwubph wwhbunwdwubp q< hwin 11 000,0 4,0 44,0
34351600  |gynunwntinbuwlwu depbuwutiph wuhyubp q< huwtn 180 000,0 4,0 720,0
34351600  |qnunwuntnbuwlwu dbpbuwutiph wuhdubp Q< hwitn 80 000,0 4,0 320,0
34331300  [wywndtipbiuwubph wwhbunwdwubp < hwwn 27 000,0 2,0 54,0
34331300  Jwywndbpbuwutph wwhbunwdwubp < huwin 60 000,0 4,0 240,0
34331300  wywndbptuwubinh wwhbuwnwdwubp 9< hwtn 32 000,0 4,0 128,0
34331300  [wywnndbpbuwubph wwhbunwdwubp q< hwwn 25 000,0 4,0 100,0
34331300 |wywnndbipbuwubph wwhbunwdwubp Q< hunn 65 000,0 4,0 260,0
34331300 |wywndbiptuwtbph wwhbunwdwutp < hwin 65 000,0 4,0 260,0




34331300  [wywndbipbuwutinh wWwhbunwdwubip < hwn 40 000,0 1,0 40,0
34331300  fwywndbpbiuwutph Wwhbunwwubp q< hwwn 100 000,0 1,0 100,0
34331300  |wyinnubpbuwutiph wwhbunwdwubp G< hwn 130 000,0 1,0 130,0
34331300  [wywndbipbuwutph wwhbunwdwubp q< hwn 15 000,0 2,0 30,0
34331300  wywnubipbuwutph wwhbuwnwdwubp q< hwn 15 000,0 2,0 30,0
34331300 wywndbpbuwubph wwhbunwdwubn q< hwin 9 000,0 2,0 18,0
34331300  |wywnndbpbuwlbph wwhbGunwdwubn 9L hwn 35 000,0 1,0 35,0
34331300  [wywndbpblwltph wwhbunwdwubip LS huwin 10 000,0 1,0 10,0
34391100  |upwlynnplibinh wwipwqutibp < hwn 80 000,0 1,0 80,0
16811100 qninwintnbiuwlwt uwppwynprwtbinh dwubip Q< hwn 55 000,0 1,0 55,0
16811100 gnununtinbuwlw uwppwiynpnulubph dwubn q< hwn 23 000,0 1,0 23,0
16811100 qninuinunbiuwlwl uwppwynpniubph dwubp q< hwn 4 000,0 4,0 16,0
16811100 gnunuintnbuwlw uwppwignpnuubiph dwubp Qg hwn 2500,0 2,0 5,0
16811100 gninununbuwlwt uwppwynpnwiubph Jwukn Q< hwwn 2000,0 6,0 12,0
16811100 qynunuuntinbuwluwts uwppwynpnuiutiph Uwubp Q< hwtn 6 000,0 2,0 12,0
16811100 gninuintnbuwlwi uwppunpndutiph dwubn Q< hwtn 14 000,0 2,0 28,0
31431100 Yuwwwpwepduwiht Ynunwlhsubp q< hwwn 45 000,0 1,0 45,0
31431100 Ywwwpwppluiht Yninwlhsubp Qg huwtn 47 000,0 4,0 188,0
31431100 Yuwwpwpepdwih Ynunwlhsutip QL hwwn 60 000,0 1,0 60,0
31431100 Yuwywpwppduiht Ynwnwlhsubp q< hwtn 75 000,0 2,0 150,0
44441200  |qunhlwynp wnwugpwlw|ubp < hwwn 3500,0 12,0 42,0
42141190 [hubinutiph Ygnpnhsubip Q< hwn 95 000,0 1,0 33,0
34331300 wiinnidbipbuwtbph wwhbunwdwubp Q< hwtn 7500,0 1,0 7,0
34331300 wywndbipiuwubph wwhbunwiwubp Q< hwwn 10 000,0 1,0 10,0
34331300  |wyunubipbliwtibph wwhbunwdwubp < huwin 1000,0 2,0 2,0
34331300 Jwywndbipbuwtibph wwhbuwnwdwutn < hwn 40 000,0 1,0 40,0
34331300  |wynndtipbtwtiinh wwhbunwdwubp 9< husn 6 000,0 2,0 12,0
34331300  |wywndbipbuwlbinh wwhbunwidwubp QL hwin 7 000,0 2,0 14,0
34331300  [wyinndbpbuwutph wwhbunwiwubp QL huwin 12 000,0 1,0 12,0
34331300  |wlwnndbpbuwubph wwhbunwdwubp < hwn 1500,0 2,0 3,0
44441200 qunhlwynp wnwugpwlwiutip < hwn 2200,0 3,0 6,6
44441200 qunhywynp wnwugpwlwiutp q< hwwn 5500,0 4,0 22,0
44441200 qunhlwynp wnwbgpwljuwubp q< hwn 4 400,0 2,0 8.8
44441200 qunhlwynp wnwugpwljwiubp g hwn 3 000,0 4,0 12,0
44441200 |qunhlwynp wnwugpwlwubp Q< hwn 9 000,0 1,0 9,0
44163171 |nbiwnhubl funnnyuil 1, 1/2° Q< dtunp 4000,0 8,0 32,0
44423640  |ntunhub dhownhputip q< hwwn 200,0 10,0 2,0
44423640  [ntnhub dhownhpubin a< huwtn 200,0 6,0 1,2
44423640 nbiinhub dhewnhpubp ac huwin 200,0 4,0 0,8
44423640  [nbwnhub Shownhpubn 9L huwwn 650,0 4,0 2,6
44521160  |onpwitp Q< dhnp 3500,0 7,0 24,5
42121100 hhnpwyihl Yuwd onwstzhs (wulidwinhly) guuitiubp qc hwtn 35 000,0 2,0 70,0
44163180  [wnnwwwnb funnnyuwl 9L g 514,3 733 377
44441200 | qunhlwynp wnwlgpwluiutip < hwn 2200,0 3,0 6,6




44441200 qunhywynp wnwugpwlwiubn q< hwn 5500,0 4,0 2,0
44441200 qunhlwynp wnwligpwlwiutp < hwn 4 400,0 2,0 8,8
44441200 qunhlwynp wnwugpwlwiubip Q< hwn 3000,0 4,0 12,0
44441200 | qnhlyuwinp wnwiigpuluiubp 3< huwn 9000,0 1,0 9,0
44163171 ntnhub funnnquy 1, 172" 9C dbinp 4 000,0 8,0 32,0
44423640 |ntnhub dhgwnpttn q< huin 300,0 10,0 3,0
44423640  [ntunhub dhownhpubip 9< huin 300,0 6,0 1,8
44423640 |nbunhb Shownhpltin q< hustn 300,0 4.0 1,2
44423640  |ntunhub dhownhputip Q< hwn 650,0 4,0 2,6
Gupiw Yapwguuwits, hulnqmpjwt, snewtiwnnt Lwd
42131140 wtf L[anhqq:m?wu mmuiu%uy?] S ” 9¢ huwtn 65 000,0 1,0 65,0
44441200  |qunhlwynp wnwgpwlwjubp < hwtn 9 500,0 2,0 19,0
42921180  [Upbinpubip 9L hwin 60 000,0 1,0 60,0
44118310 wnnuuwnk phehn G< Yg 750,0 59,0 44,25
an4niqp  [MUnmUnR thifuwbighgbbin U wunwidlunn < | hun | 6100000 1,0 610,0
thnfuwiughgiiph inwippbip
42141140 [Hnududnn infuwtighgltin U winwiduunp 9¢ hun | 650 000,0 1,0 650,0
thnfuwiughstibiph wwppbp
44311110 guijwwwindw dEnwnwiwpbp q< dbinp 12,0 3125,0 37,5
34351600  |qynunuuntinbuwlut Ubpbtwlbiph wupyutp q< hwtn 60 000,0 4,0 240,0
34331300 Jwywnubpbwtiph wwhbunwiwubp uu huwtn 65 000,0 1,0 65,0
44112761 24tp qQc lg 700,0 53,1 37,2
44163180 wnnuwnb funnnyul q< g 860,2 18,6 16,0
44163180  [wnnujwinbi funnnyuly q< g 780,3 346 27,0
44118310 wnnwwwnb phpetin Q< g 1061,6 18,8 20,0
6 550,1
Ynununntbinbuwlwl nbuuhlw b
wigbgnpdwljwl wwpwliptibp
16311400 funinhtdhy bpbuwtibp 9< hwin 45 000,0 1,0 43,0
16311400 funinhuéihs dbpbuwubp 9L hwn 5000 000,0 1,0 5 000,0
03451600 dwnbip uu hwin 1500,0 110,0 165,0
03451600 Swinbp uu hwwn 1500,0 20,0 30,0
03451600 Swnbip uu hwin 1800,0 400,0 720,0
34131220 npwlnnplbp QL hwn 0,0 1,0 0,0
16111100 gnipwutp qC hwn 0,0 1,0 0,0
16121300 Ynuyinhywinnputip Q< hwtn 0,0 1,0 0,0
16121100 gupwuubip Q< hwin 0,0 1,0 0,0
16311400 funwnhUdhy dbpbuwutip < huwin 0,0 1,0 0,0
16141100 wwpwnwwjniebiph gphsubip s 4 hwun 0,0 1,0 0,0
16131100 ubinduwgwt dhipbuwutp Qg hwin 0,0 1,0 0,0
16121200 hnnp thjuptigunn uwppbp Q< hwtn 400 000,0 1,0 400,0
16111100 gnipwutbp Q< hwwn 20 000,0 1,0 20,0
16341100 phppwhuwijwp dbpbuwibn Q< hwn 20 000,0 1,0 20,0
16161100 Wy qulwquu wjglignpdwljwl uwppwnpnidubp Q< huwin 35000,0 1,0 35,0
6 435,0
Pudwinpnwgpnipjnil
79981100 pwdwbnpruwgnpiwt dwnwjnugyniutitp 9L hwn 12 500,0 12,0 150,0
79981100 pudwunpnwgpdwl Swnwnieniuubp G huwn 8 800,0 12,0 105,6
79981100  |pwdwunpnwgpdwt dwnwynieyniiubn 9L huwtn 14 000,0 4,0 56,0




79981100  [pwdwlnpnwgpuiwl Swnwnyejniutibn &< hwwn 10 500,0 12,0 126,0
79981100 pwdwnpnwgniw dwnwjnieiniutibp Q< hwwn 5 400,0 12,0 64,8
79981100  [pwdwunpnugndwt dwnwinipjniuttp Q< hwn 8 500,0 8,0 68,0
79981100 |pwdwunpnugniwl dwnwynyspniuttn 9< hwtn 7 300,0 12,0 87,6
79981100 pwdwunpnwgnpiwl Swnwjnipniuibp QL hwn 7 300,0 12,0 87.6
79981100 pwdwunpnwgpiwl Swnwjniejnitibp Q< hwn 8 600,0 8,0 68,8
79981100  |pwdwlinprwgpdwl dwnwjnipjniuttin < hwn 14 000,0 12,0 168,0
79981100  |pwdwlinpnwgpduwt Swnwjnpjniitibp < hwin 20 500,0 12,0 246,0
79981100  |pwdwunpnwgpuwl Swnwjnipnitiubp 9< hwn 2500,0 10,0 25,0
79981100  |pwdwunpnugndwl dwnwynipjnitutn Q<L hwn 7500,0 6,0 45,0
79981100  |pwdwunpruwqpiwl dwnwynijniutitin < hwn 200,0 676,0 135,2
79981100 pwdwunpnwgnpdwl dwnwjniuzjniuutp q< hwin 100,0 756,0 75,6
79981100  [pwdwunpnuigndwl dwnwjnyesyniutbp Lo hwn 4000,0 12,0 48,0
92411100 pbpREPhY pwdwunpwgpdwl dwnwynienittbp Q< npwd 8 000,0 8,0 64,0
1621,2
UthusuLLeLbr
Bupbiph, 2hu uubph pu u
as4pti00  [20Rbh, 2htnuynitiiinh plipwghly Unpngduly 9¢ | npuws | 6000000, 1,0 6 000,0
w2fuwwnwpubp
Gupbiph, 2hu uub U u dwu
45461100  |2URM, 2hUnipinbbinh pUewighly Uningu < | npwd | 2000000,0 1,0 2000,0
wuwwnwuptibip
buptiph, 2hu uubph pu unpnguwu
45461100 |27, 2htimpintibinh plpwghl Unpngfu ¢ | npws | 2000000,0 1,0 2000.,0
wfuwnwupubip
Lupliph, shunieniuutiph pupwaghl Unpnglwi
asagigg |2 rnalumpnabimh gupwahl Wpng 9 | npwd | 20000000 | 1,0 2000,0
wpfuwnwiupubp
s5461100  [25URENh, shntpiniliubih plpwghl npnguust a< npwd | 57 000 000,0 1,0 57 000,0
wizfuwwnwpubip
) ub u
aSapiigg  |2Rpbni, Zhtniprditinh iliplagbl Bapng duib o< | npui 0,0 10 0.0
wluwnwuputin
45461100  [27uRUNh. 2htnuenillbnh plipwghl Unpnguuiu qc npwd | 5200 000,0 1,0 5200,0
woluwwnwupubip
74 200,0
OUU3NkMa3NhLLEN
aggpnoy  |Rusesginh lumodupub aoliopggapt | |0 | faoio600 1,0 1200,0
dpwgnwiht thwebipubp
79211150 wniphnnpwljwl dwnwnipyniiiblp QL npwd 3 000 000,0 1,0 3 000,0
79111200 ubipyuywgnigswljw dwnwjnipyniuubp uu npwd 5000 000,0 1,0 5000,0
79341100  [gnywqnuihu dwnwnuygniuutp Q< npwd 3 000 000,0 1,0 3000,0
50531140 thnpdwiptuntewl dwnwjniejniuutp uu npwid 500 000,0 1,0 500,0
45231147 Unyninwepbiph dwppdwl wauwwnwuputip uu npwd 990 000,0 1,0 990,0
diiain | Pt s un e mh et weU | npwd | 58920000 1,0 5892,0
dwnwjnigniubip
79811100 EYwiht tnwwgpnijwl Swnwjnieniutbp Q< npwd 350 000,0 1,0 350,0
981121 wlynwugnipiut wwwhnydwu dSwnw)nigniutbip uu npud 840 000,0 1,0 840,0
soatrzg | TUMengaD ulnpbnp Wwhdadiut uu | npws | 9900000 1,0 990,0
Ybpwunpngdwl Swnwyniginiutibip
stupbipnud wnbnwywywd bEhumpwlw uwppbiph
uu wd 990 000,0 1,0 990,0
S Jbpwunpnglwt b wwhwwudwy dwnwjnuygjniuubin w
63711220  Jwywindbpbuwlbph Yupwidwi dwnwiniejniutbp uu npwd 100 000,0 1,0 100,0




73432100 Ujnupwlwit wpdbpubiph quwhwinnwd uu npwd 990 000,0 1,0 990,0
65211100 qugh pugfunul uu nhwd | 36 300 000,0 1,0 36 300,0
onh pwafudwt b npuw hin Yuwywsd
65100000
dwnwjnigjniutp uu npwd [ 16185 000,0 1,0 16 185,0
65311100 ClEyunpwlwunieiwt pwgtunud uu npuwd 62 350 000,0 1,0 62 350,0
90511120 YEugwnuyht wnph hwywpdwt dwnwynuantutbip uu npwy 1000 000,0 1,0 1000,0
66111200 PWUlwhl Swnwynueiniiutip uu npwd 300 000,0 1,0 300,0
32411130 hwdwguitg Q< nnwd 700 050,0 1,0 700,05
50531140 thnp&wplitinupjwts Swnwnueyniutbp uu nnwd 7000,0 5,0 35,0
66511430 inwgnighs wuwwhnywagpdwt Swnuwyniepniitp uu nnwd 670 000,0 1,0 670,0
ghunwlwy hitwgninnugniuubph b
73311100 tnpdwpwpwlwy dwliwy wiwuwynpn b G< npwd 1100 400,0 1,0 1100,4
hpwgnpénul
66511430 Inwgnighs wwwhnywgpiwl Swnwynuyeniutin uu npwd 247100,0 1,0 247.1
ghnwlwu htinwgnnnygniuubiph b
73311100 tnpdwnpwpwlwt dwydwt wiwuwynpnw b Q< nnpwd 1150 000,0 1,0 1150,0
hpwagnpdnud
50511100 |ndwinh bnuinpnguuwi L uywhujwiduwl UU | npwd | 4400000 1,0 440,0
Swnwyjnipyniuip
71351540 wbfuthlulwy huynnnuejw Swnwjnieniuttp uu npwu 185 000,0 1,0 185,0
79631200 | W2Vutnwlihgliinh ypuiuunnpuiutnduwy q< npuwd 13 000,0 8,0 104,0
Swnwynipiniutibp
64121200 thnuinh wnwpdwt dwnwjnuysjniitibn uu npuwd 30 600,0 1,0 30,6
71351540 [wnbfuthlulwu huynnniejw Swnwjnigjniuubn uu npwd 306 000,0 1,0 306,0
63521200  |pbinubiph thnfuwnpuwl dwnwjnysjniutbp 9< nnwd 1430 000,0 1,0 1430,0
63521200 plinutiph thnfuwnpdwy swnwynieniuutn Qc npwd 1340 000,0 1,0 1340,0
niziigo | ANwnuinwiub tujuwigmiub hn Lyuws Uu [ npowd | 100 000,0 1,0 100,0
funphprwwnywlw Swnwjniejniutbp
wudwnnnbiph yEpwunpngdwt dwnwyniejniuubp,
1 uu ] 100 000,0 1,0 100,0
e ubpwnywy’ dntnwdnud b hwywuwpwlonnu e
64121200 thnuwinh wnwpdwt dwnwynpniuttp uu npwd 99 000,0 1,0 99,0
70221500 ubnutbph Jupdwlw)nipwu dwnwinigniu uu npwd 70 000,0 1,0 70,0
ap4q1300  |MM2Awswhwlul hudwluwngsuht dpwapuyht Uu | nppws | 9900000 10 990,0
thwpbiputn
92421100 FIpRAAL fisuKanBOOaN apigmal uu npwd 15 000,0 1,0 15,0
Swnwjnipiniuubp
71351540 nbfuthwlwy huynnnipjwt dwnwynipjniiutp Q< hwwn 0,0 1,0 0,0
79211150 wnnhinnpuljw dwnwjnyeniuubp QL hwtn 0,0 1,0 0,0
soreizg | MUAMORRHUMIRh Yt nngdul UU | nowd | 299600,0 1,0 299,6
Swnwinipjniulibtp
92521120 gnigwdniubiph wwhwwudwy dwnwynieniuubp uu npwd 792 000,0 1,0 792,0
gwugwih, hwdwgwuguwht b ubpphu
72211124 |OWPUIMMULWL Yuyph (pLunnuliinn) Uu | npws | 5200000 1,0 520,0
hwdwlupqsuwht Spwqpwihl thwpebiplbnh
dowldwu Swnuwynipynitibp
htnnwwnw- U nwnhnhwnnprndutiph
uu wd 200 000,0 1,0 200,0
- hbnwpéwydwu dwnwjnipintutiip i
150 900,8




cCLHuUsLL

367 566,42




